www.ptce.net
E—HEEN P NBPT NBPT
First Manufacture Base: % f PNEUMATIC

(P THESSHTHERLT

{ Sino-Korea)Ningbo bote Pneumatic Co.,ltd
(Sino-Korea)Ningbo Pneumatic Technical Expert Co.,Lid
iy  HITETRERRAREFEsILIX

ADD: Changfeng Village Industry Zone Changhe Town Cixi,Ningbo Zhejiang China
E e ( Domestic Trade Dept.)

TEL: 0086-574-238B8882 00B6-574-63412016

FAX: D086-574-23688633 0086-574-63412015

B 7\ f# &8 (International Trade Dept.)
TEL:0086-574-23670015

FAX: 0086-574-23688633

B fE/E-MAIL:ptce@ptce.net

Pl 35/ Website: www.ptce.net / www.ptce.en.alibaba.com
R 4/P.C : 315328

- o
Second manufacture base:

FEERNEREERAR

Shanghai Dihao Mechanical & Electrical Technology Co.,Ltd

dhk : EEETTARE1285 158 C B | 329-330

ADD: C329-330 , No.1 Bulding, No.128 XiangYin Road ,Shanghai City. China

El R ES ( Domestic Trade Dept.)

Bl #5558 (International Trade Dept.)

Tel: 0086-021 51613965

FAX: 0086-021 51613953

i #/E-MAIL:ptce@ptce.net

M/ Website:www.plce.net / www.nbptce.cn.alibaba.com
HB4R/P.C : 200433

SINO-KOREA
NINGBO BOTE PNEUMATIC

NBPT B RRAF R BN T

- PNEUMATIC

TO BE INTERNATIONAL WELL-KNOWN MANUFACTURER




1SO9001:2000



Brief Introduction

Ningbo Bote Pneumatic Component Co., Ltd. is a Sino-Korea Joint Venture, specialized in
the production of pneumatic component. Our main products are One-Touch Fittings, Speed
Controllers, Compact One-Touch Fittings, Silencers, Air Guns, Solenoid Valves and Cylinders
in complete specifications. Relying on superior quality and competitive price, our products are
selling well in the domestic, European, American, Middle East, and Southeast Asian markets.

Our company takes the market competition and the crisis as consciousness, earnestly implements
the 1IS09001:2000 quality specification system,and we have a technical team with skilled workers
who are able to manage the whole course of R&D, Quality Controls, Production, Designing
and also own automatic CNC Lathe machines and advanced monitoring system. We take science
and technology as our guide, and talent, our backing. However, we still further improve quality.
Our standardization of the management model and new image has won the trust of many
domaestic and foreign clients, whatever new or old.

Our company is located in Ningbo City with convenient transportation access and beautiful
environment. Providing 'Quality Products, Excellent Service, Competitive Prices and Prompt
Delivery’, we are now looking forward to even greater cooperation with overseas customers
based on mutual benefits.

i 4 ol A
TFTERERSHBR-—RPIBSHESL , SIHBAER , BH SRR, EHELHEU , X
ATASHEESAWATSER | ANUER~RE  RIESKL, MERL, THRA , HAS
RERG, ABFL, "RHEEERAESE , "RICEEATHM  HEi, MW, EE , BT,
Ak, LT, 820, HMIBSIRBRENER , HESGARNRK , WX , K&,
QWFENRE—H#HERFENERAR , ASCBIRHRNLEENANRE , SUNBEIAS,
BAZRERE , MERW  REMRA. 1S09001:2000 9 5 248 =0 57 57 00 FE OB BT A R K 1
RACTHRMBEBAHFTHER , XEERE , FHALX  BUESXERA BRI REB.

I—HRK WA ==
reata first % Branc
in the irast ot bustoma e

www.ptce.net

SINO-KOREA
NINGBO BOTE PNEUMATIC

%ﬁﬁﬁ%%ﬁlﬁﬂtﬁﬂiﬁ, BMRETLE, HHhUR-REK, AEFRERMBMA™

NBPT people firmly believe that development is our eternal theme and the step of innovation
will never stop .We make our best efforts to build a first-class brand and provide the most
satisfied products and service to our customers

B =13 ,
%ﬁ* 21518 @t\%
X

A o

BERTRERAKER



=

~m EE

PRODUCTS CONTENTS
DNCRINSOBABURABESEL -+ oo 001
DNC Series 1SO6431 Standard Cylinder

CYLINDER SIRFUSOBAZUFAEELEL -+ oo os o 003

SERIES Sl Series 1IS06431 Standard Cylinder
DNC/SIAFItr S REMYE 005
DNC / S| Standard Cylinder Installation Accessories
SC/SURFIERESE - 008
SC/SU Series Standard Cylinder
SC/SURNRAESHERME 010
SC/SU Series Standard Cylinder Installation Accessories
MALZ 5l 3 {fk 5 1/ MAL Series Mini Cylinder - 013
MAZ 3 2k {5 S f1/MA Series Mini Cylinder - 017
MAL/MAZ FIE(RSET RAEMME e o 019
MAL/MA Series Mini Cylinder Installation Accessories
MIZR )i {7 S#L/MI Series Mini Cylindesr - 021
CJ2B# 5| ¥ {R < #/CJ2B Series Mini Cylinder - 023
CDM2B# ¥l 3 {7 S &I/CDM2B Serirs MINI Cylinder -+ - 023
SDAZR 5 MBI S £1/SDA Series Thin Type Cylinder - - - --ooooen 025
CQ2% | & S §I/CQ2 Series Thin Type Cylinder - 031

SOLENOID VIR 5| i i 8/3V1 Series Solenoid Valve oo cos 032
3V R 5 BB @/3V Series Solenoid Valve - oo 033

VALVE

SERIES 4V R Y| BB/ 4V Series Solenoid Valve - 035
AVEASIRERACARAERRHHAD 037
4V Series Solenoid Valve Three-Position Five-Way Close Typa
AVRIIBEBCRHRBERREAR o 038
4V Series Solenoid Valve Three-Position Five-Way Pressure Type
AM#ZR S| £ 8 #8/4M Series Solenoid Valve - 039
3A%R 5 5= 1®/3A Series Pneumatic ControlValve - 041
4AR 5SS $Z 1/ 4A Series Pneumatic Control Valve - 042
F i #/F # #/Hand-Pull Valve/Hand-Draw Valve -~ 043
F# R/ B #/Hand-Switching Valve/FootValve - 044
How To Choose The Sealing&Body Mateial - oo 045
2WH 5 e # #R/2W Series Solenoid Valve - - 046
WUWY (KO R _w_@E s m|m - 047

2W({UW)(Large Aperture)Serise Two-Position Two-WayDirect
Drive Type Solenoid Valve

2LA Y B @/ 2L Series SolenoidValve - 048

AIR FILTER
COMBINATION
SERIES

PNEUMATIC
FITTINGS
SERIES

2P# 5| B ¥/ 2P Series SolencidValve - 049
VR A BB 050
2V Series Two-Position Two-Way Solenoid Valve

VXE T B # B/VX Series SolenoidValve - oo 051
PU220% %] B 7 8/ PU220 Series Solenoid Valve - - 052
PU225% 51| i # B/ PU225 Series Solenoid Valve - oo 053
NBPTH ¥l & ®/NBPT Series SolencidValve - - oo 054
SLGHFIEE B M/SLG Series Solenoid Valve -~ o 056
2WSLET R BEm/BR®R - 057
2WSL Series Solenoid Valve / NPTYF Series 2/2 Pulse Valve

th7k ¥l & M #/Special Valve For Water Fountain-———— -~ 058
JZFRF = BB 059
JZF Series Two-Position Three-Way Stop Solenoid Valve

RSP-20S5t &5\ AL # M/ RSP-20S Series Solenoid Valve - 060
FEHEES (SBRM) oo 061
Air Filter Combination (F.R.L Combination)

SRy (2BHFR ooocomeoszooedimossoicooesicioniiciioniscaciis oo oo Bl 063
Air Filter Combination (F.R.L Combination)

AFF Bz 5 i1 i@ 8%/ AF SeriesAirFilter - 065
ARR 711 = #/AR Series Regulator - 067
AL B Z//AL Series Lubricator -~ 068
AW;d jEH E /AW Filter&Regulator - 069
A/BRFI SR 432 €/ A/B Series Air Source TreatmentUnit - 071
HiER SR EL/Quick Connecting Tube Fittings - - 072
Tk B/Speed Controllers - 079
SEAREESEIMINT FIEHINGS - oot 080
BE@/Stop Fittings - 082
i IE f/Check Valves «------ooomrr 083
2EPRBEXNSERE L/ Two-touch Fittings - - - 084
FHEMIT/ Check Valves - 085
jHFE 2% Silencers / 1% Coupler - 086
PU/E & E/PU/Nylon Tubes - oo oo 087
M L/BrassFittings - - 088

ERRHEARIT A SFHE R L/Push-inFittings - 092



SINO-KOREA
NINGBO BOTE PNEUMATIC

SINO-KOREA
NINGBO BOTE PNEUMATIC

18U B0d manm

1ISO9001:2000

== edig 00} amsseld

SETEEH R
Cylinder theory output Sheet

DG D (Mpa)  Alr Prossuro

: | o5 |

I ] = £ ) 804 804 160.8 241.2 32186 402.0 482 4 562.8 643.2 7238

= b m Plzlﬂlzsﬂide 690 69.0 138.0 207.0 276.0 345.0 414.0 483.0 552.0 621.0

whE H@e 1256 125.6 251.2 376.8 5024 628.0 753.6 879.2 10024 1130.4

—%‘ B ° m Plﬁsﬂlda 1085 106.5 211.0 316.5 422.0 527.56 633.0 738.5 844.0 465
z o wHE Pfggwe 1963 196.3 3926 588.9 786.2 981.5 177.8 13741 16704 1786.7
gmg = 2 Im Plﬁsﬂlde 1648 164.9 329.8 494.7 859.6 824.5 968.4 1154.3 1399.2 1484.1
wayE Pr%ﬂl.le 3.7 nT 623.4 935.1 1246.8 1558.5 16870.2 2181.9 2493.6 2805.3

® » [Ag%l;lne Plﬁgﬁ 2803 280.3 560.6 840.9 11212 1401.5 1681.8 1862.1 22424 2522.7

" » |§) ?Pb P'%g“ 5026 5026 10052 1607.8 20104 2513.0 30166 3518.2 40208 45234

\ Action Plﬁsllde 4536 453.6 907.2 1360.8 1814.4 2268.0 27218 3175.2 3628.8 4082.4

waE Pl%nfm 7853 785.3 1570.6 2355.8 3141.2 3826.5 4711.8 4288.2 62824 T067.7

100 25 Double

Action Plﬁgde 7362 736.2 1427 4 2208.6 2048.6 3681.0 4417.2 5153.4 58B85.6 6625.8

whHE H% 12272 1227.2 2454 4 3681.8 4908.8 6136.0 7363.2 8580.4 2817.6 11044.8
= = Plﬁsﬁlde 11468 1146.8 22936 3440.4 4587.2 5734.0 65880.8 8027.6 9174.4 10321.2
- 20 gﬂ ?b% F‘Eggua 20106 2010.6 4021.2 6031.8 8042.4 10053.0 12063.6 14074.2 16084.8 18095.4

Agtion Plﬁgde 18849 1884.9 3768.8 5654.7 7539.6 8424.5 11308.4 13184.3 15079.2 16964.1
o s P@a 31416 3416 62832 9424 8 12566 4 15708.0 18849 6 218012 251328 28274 4
= . [m Ptﬁsﬁlda 30157 30157 60314 9047.1 12062 8 15708.5 180942 211099 2412586 271413



DNCZERFIS0643 145 & M il
DNC SERIES 1S06431 STANDARD CYLINDER

I1508001:2000

A

——

]
?

C NBPT

DNCARFISO0643145 =i

G

NBPT

DNC SERIES 1S06431 STANDARD CYLINDER \/ =TS
ISO8001:2000 |
mmm $7 R < Overall Dimensions
* DNCE A& &I/Basic
A+{TE (Stroke)
E B CHFE (Stroke) /\ | &-L% (Dopth) M
H F| G
J N Q. 24 (Cushion Screw)
s 3T @ @ ||
e &
K/ v/

)
_—
DNC DNC-§2 DNC-S1 DNC-A DNC-A-S2 DNC-A-S1
1 r .4 14 i ) jﬂ Il i | A
N e e + —F
iT M #8/Ordering Code
DNC - 3|2 X 5‘0 - 2|0 PI‘DV - |S - S2
gz T8 AHRTE S HAERES ‘
Cylinder Bore Stroke  Adjustable Z=E: X% FEA A
10:10mm PPV S:Hu#A 8 E/Type
£ B/Mode . 20:20mm  Cushion Magnet Code wEaEAE
DNC:& & 2l/Basic Type 30:30mm  Blank:With Cushion  Blank:NolAttach ST MM ESHATEHE
HNC 3% fﬁlﬁg 40:40mm  PPV:Without Cushion magnet S2: W EHaE
FNC:ETIE %2 50:50mm S:Attach Magnet K2:hn{€ b3R8 4T
ZNCF:h (5 #h 75:75mm K3: 5 B R &
SNCB:£EFE 100:100mm K8:n &5 £
SNCL: W H g Blank:Basic Type

81:Double-shaft Double
Action adjustable stroke type
$2:Double-shaft Double Action

£ 4 /'S p e cifi ¢ o I

F & (mm) Bore

X 2 8l/Doubls Actlon

T &4 it Working Medium
= DNC#H 7
Fixed Type DNC-52% 31
EREHIER Bar Operating Voltage Range
HRIEMESN Bar Engured Pressure Reslstanca
EHRETEEC Opensting Temperature Range
GBS mm/s  Operafing Speed Range
@R Buffer Type
{78 mm Buffer Stroka
wmEOE Joint Pipe Bore

23 &7Ar

E43 FAR FBE CAE CBE CRA LBE TCE TC-MA
EXH FARl LBE TCEH TC-ME

1-8.0

13.5

-5~70°C

50~800mm/s

1T i 8 /Adjustable Buffer

24

G1/8 G1/4

Gi/8

G112

* NC-SIWHhE zha
Double-shaft

A1+{T8 (Stroke) X2

D le-action
OUb e-actio CH{72 (Stroke) B E+{T# (Stroke)
E B [
H ol % 2@ AR (Cushion Screw} |F, H
J . ]’* J
e R e 2 @ -
K v ]
* NC-SI & & # 7 i &
Double shaft and
adjustable stroke
A2+f7118 (Stroke) X2+7] i f78 (Adjustable Stroke)
C+HT#E (5troke) B Ag!ﬁlt?gl’ggr%ke
3 Ay (Sft?gl; ) J
H 24 Mk & {Cushion Screw) roke.
; B3 28w Cunionseron) =]
§g[|:5 | i i e
e = g
K v
ﬂ% A A1 Al B c o E F G H
a2 142 180 185 186 94 3 az 10 Fe] 22
40 159 213 207 20 105 a5 34 10 295 24
50 175 244 233 27 106 40 42 10 32 32
&3 180 258 247 26 122 45 42 10 36 32
80 214 301 288 35 127 45 52 10 ar 40
100 229 21 308 40 137 55 52 1% 39 46
128 279 352 = 46 160 80 73 20.5 447 o4
E[n%{grfﬂﬂ ] N o P a R 8 T u v
32 12 15 G118 5 3 6.5 45 325 12 10
490 12 17.5 G1/4 7 3 7 52 3s 16 13
] 12 21 G1/4 7 3 9 85 46.5 20 17
83 12 23 G3/3 8 5 9 76 56.5 20 17
80 12 24 G 10 5 12 94 72 25 22
100 12 26 G172 10 5 14 112 89 25 22
125 = 223 G152 13 8 16 134 110 32 27

B-LIE { Dapth ) M

8-L3% ( Depth } M

1Y
Y

il

4 o th A& A A &

001 | www.ploa.net

K

M10X1.25
M12X1.25
M1BX1.5
M16X1.5
M20X1.5
M20X1.5
M27X2

uﬂzlwww.plu.net



SIRFIS06431{xES I
S1 SERIES 1506431 STANDARD CYLINDER

1508001:2000

SIRFIS0643145E =L
S| SERIES 1S06431 STANDARD CYLINDER

1508001:2000

47
53

325
38

65 48.5

758
95
115
140
180
220

56.5
72
89

10

140

175

13 13 3.5 35

20 17 3.5 40
20 17 4 45
25 22 4 45
25 22 4 B5
32 27 4 &0
40 36 4 65
40 386 5 75

85 72 25 22
15 89 25 22
140 M0 32 27
180 140 40 36
220 175 40 36

115
140
180

110
140

AT 8 {Stroke)
CHTE (Stroke)
L LR | x
| | BufferNut | |
* S|& 4B /Basic e g i
A } dE n:** N
ﬁ’ 84\ g n.*_ IS
« w/ 2o
w/ 2-0/] n
W/ Wit NG okl
: 1 w ¥ 1
o " T e = o -.ﬂﬂﬂﬂﬂﬂﬂ-ﬂ_-ﬂﬂﬂﬂﬂﬂ..ﬂﬂﬂ
T T T T T T
275 22 M10X1.25 13.5 PH18
) 40 159 54 105 35 34 22 32 24 19 7 M12X1.25 Ms 18 PT1/4 s a.s 9
SI-3 :QW SID-§° /an : SID-&% 1= 50 175 69 106 40 42 27 31 32 24 8 M16X1.5 M8 155 PT14 85 7.5 7.5
' ' ‘ ‘ 63 190 69 121 45 40 29 33 32 24 8 MI6X1.5 M8 165 PT¥8 7.5 8.5 9
80 214 86 128 46 53 33 33 40 30 10 M20X1.5 M0 16.5 PT3/8 11 B.5 13.5
1T W/ Ordering Code 100 220 91 138 55 55 36 37 40 30 10 M20X1.5 M10 18.5 PTU2 13.5 0.5 14.5
125 279 119 160 60 74 45 46 54 41 135 M27x2  M12 23 PTU2 14 12 14
160 332 152 180 65 B4 58 S0 72 55 18 M36X2 M16 25 PT3/4 15 12 20
S| D - 50 X 50 - 25 - 8 - LB 200 347 167 180 75 100 67 50 72 55 18 M3Bx2 M16 25 PTaM4 15 12 20
‘ ‘ ‘ ‘ ‘ ‘ AHHE (Stroke) x2
B CHT# (Stroke} BHTE& (Stroke
E o wFl.G, 28 E+§'§EZStmk§§
g FE  SUTHESE RAERS EE R R/ Fixed Type H e ol i i H
TR HERHNE  Cylinder Bore Stroke  SlJadjustable s:pi#g TH EAH
) : a J g J
D:REAHE B stroke type gy pa LB . BiREER * SIMEMEHE L o i 8 3
J: R ETER Magnet Code FA 28 @ 2 8 (% 2) Double-shaft ] o, i IR : o
Blank:Standard Double Action . FBEZEEH(RZED Double action = v #‘9 —
. S:attach magnet P K/ w/ 20/
D:Double-shaft Double Action Blank:not attach CAREEZE (R EWR) a -
J:Double-shaft and adjustable magnet CB:R &ZEEE (NEHF) AEW/Width o aN_
8= stroke type Blank:basic type
Mode LB:front and back fixed type J
SIIS06431 FREESH FA:front cover fixed type
6 M10X1.25 PTi/8
$1:1508431 Standard Cylinder (Front flange typs) o haiied Thie B tel Era G
FB:back cover fixed type :
(Rear flange type) 50 244 69 106 40 42 27 31 32 24 8 MIBX15 MB 165 PT1/4 75 85
CA:back cover fixed type 83 259 69 121 45 40 29 33 32 24 8 M®X15 MB 165 PT3/ 7.5 85
(Si.ngIeEarring) 80 300 86 128 45 53 33 33 40 30 10 M20X1.5 M10 165 PTa/8 11 85
CB:back cover fixed typs 100 320 91 138 55 55 36 37 40 30 10 M20X1.5 M10 185 PT1/2 135 95
(double Earring) 125 398 119 160 B0 74 45 46 564 41 135 M2TX2  M12 23 PT12 14 12
160 484 152 180 665 94 &8 50 72 65 18 M3BXZ M16 25 PT4 15 12
200 514 167 180 75 100 67 50 72 55 18 M36X2Z M16 25 PT3/4 15 12
AHTE (Stroke) f:;zél?!fﬁ% (Adjustable Stroke)
. g . C+ Stroke
[ ﬂlﬁfﬁpeclflcatmn— E pimfo| 3 28F#MMR G |5 TE(Siroke)
H || BufferNut | |
. (. | J
1% (mm) Bors 2 40 50 e &a 100 125 180 200 - glmﬁﬁﬁlﬁﬁ%ﬂ ] y e g 3| T
! ouple-shart an =] . o i vam
Hicion Patar LR D adjustable stroke h = SN ! =t
VIvﬁﬁﬂnf;gqnadium ESAIr KW 2&/777 T1
SIFE A HEXE FA FB CA CB LB TC TC-M1 TC-M2 AT W/ Wldth ‘NQ [a]
§ SIDEF HEE FA LB TC-M1 TC-M2
SIIE I #x& FA LB TC-M1 TC-M2
B o aliags R =068 :
ﬁ‘;;&"g ;;:ge S a2 186 48 94 30 28 20 275 22 17 B MIOX125 ME 135 PTH/8 45 65 8.5
B oo & Resistance L 40 209 654 106 35 32 22 32 24 19 7 MIZX125 M6 16 PT14 6 &5 O
A rature Range 5~70°C 50 233 69 106 40 42 27 31 32 24 B M16X15 M8 155 PTI4 BE 7.5 7.5
BERBE mmis . . 63 250 68 121 45 40 28 33 32 24 B M1GX15 M3 165 PI3%8 7.5 85 8
Operating Speed Range SIR7 : 50-800mm/s  RERT : 30-E00mmis 80 286 88 128 45 53 33 33 40 30 10 M20X15 M10 165 PTH8 11 &5 135
a?e%%pe A% MiAdjustable Buffer 100 304 91 138 556 55 36 37 40 30 10 M20X1.5 M10 185 PTIR 13.5 9.5 14.5
@15 mm p— — p— pe— — 125 378 119 160 60 T4 45 46 B4 41 135 M27X2 M12 23 PTIZ 14 12 14
uffer Stroke 160 458 152 180 65 94 58 50 72 55 18 M36BX2 M16 25 PTaM4 15 12 20
ﬁﬁ%ﬁeam G1/8 G1/4 G3/8 G1/2 G3/4 200 486 167 180 75 100 67 B0 72 55 18 M3IBX2 M16 25 PT34 15 12 20

003 | www.plce.nel

220

175

12 10 27
16 13 28
20 17 A
20 17 A
25 22 38
25 22 3%
32 271 o4
40 36 68
40 38 72

004 [www.plce.net



DNC/SIF 54 it AL 22 3 i 4 NBPT DNC/SIZ Sl & = 61 2 3 M (=, NBPT

DNC /SI STANDARD CYLINDER INSTALLATION eing DNC /SI STANDARD CYLINDER INSTALLATION NBETy
ACCESSORIES ACCESSORIES

1S09001: R 1S09001:2000 R

m 4P 2 R <t/ Overall Dimension
T W1%3/Ordering Code _ _
m M4k B/ Optional Accessories

PHNEUMATIC

€

HE/as
Bore/Symbol
cC 22 25 27 32 36 11 50 55 60

"ii[ﬂ%fiﬂ#
ISO — 50 FA FA CA| CB|CR| TC |TC-M1|TC-M2 cD 9 12 12 15 15 20 25 30 30
CE 10 12 12 16 16 20 25 30 30
‘ ‘ ‘ e ® cJ 13 16 17 22 22 27 31 355 36
SID 0 0 X X X X 0 ® ® CP 26 28 32 40 50 60 70 90 90
e .

SO A = & L B 1 S sl ® L X X X X ® ® L cT 45 52 60 70 90 110 130 170 170

ISO Standard CylinderBore Accessory
Cylinder Code SiLB e o o o o o o o o PA1 51 59 67 77 97 119 139 181 181
SILF e ® ® ® ® ® ® ® ® PB1 455 525 605 705 905 1105 130.5 170.5 170.5
s 47 53 65 75 95 115 140 180 220
T 325 38 465 565 72 89 110 140 175

4P % R </ Overall Dimension

S8 R . - EHHaROORREEE

115 135

fffffff . S LT T Lot Lol T ] SRR N
o re/Sym

SEhLE = It c 10 12 12 16 16 20 25 30 30

- -_— Al Ktz e 1208 i85 [R2108 2201 IaZ50y ionos] getes 0zt 4 8 & 47 G 70 o7 105

L_. AG || E 18 22 30 35 40 50 60 8 90

_LAD 5&9 AD AD 8 = (IORS] IT/2 5 NSSTS TS (ST N2 O0R (200 BR30 F 31 35 45 50 60 70 90 126 130
AG+{T#2 (Stroke AE 48 53 63 73 98 115 140 180 220

| G 8 10 12 12 14 15 20 25 30
AA+17 #2 (Stroke) AF 32 36 45 50 63 75 90 115 135

| H 38 41 50 52 66 76 94 118 122

=T AG 24 28 32 32 4 4 45 60 70 I 51 54 65 67 86 96 124 156 162

(“Ir § 4-2AP A 223 S| el IS OS5 ) 74 O i T ) TS 5 J 0 11 13 15 15 19 225 315 315

!-'W Al 7 & & g L2200 2 T LS B K 66 66 9 9 11 11 14 14 18

! L & £ G & 5 = B A - L = = = = 18 18 20 20 26

Bore/Symbol
5 6 6 6 8 8 8 10 10
-

T E= N E EN RN B AR :
z‘Syrnbol B 15 18 22 24 28 32 40 50 62.5
10.5 10.5 14 14 17 17 25 c 12 16 16 20 20 25 25 32 32
AK 7 7 9 9 11 11 13 17 17 D 12 16 16 20 20 25 25 32 32
BA 30.3 353 403 453 453 553 603 653 753 E 32.5 38 46.5 56.5 72 89 110 140 175
BB 10 10 12 12 16 16 20 20 25 F 52 65 75 90 112 135 170 210 255
BC 50 55 65 75 100 120 140 180 220 G 50 63 75 90 110 132 160 200 250
BD 32 36 45 50 63 75 90 115 135 H 74 95 107 130 150 182 210 264 314
BE 80 90 110 125 154 186 224 280 320 | M5X0.8 M5X0.8 M6X1.0 M6X1.0 M8X1.25 M8X1.25 M12X1.75 M16X2.0 M16X2.0
BF 64 72 90 100 126 150 180 230 270 J 22 28 28 30 32 38 40 50 50
BH 6.5 6.5 6.5 8.5 10.5 10.5 8 8 12
BP 7 9 9 ;| 12 14 16 18 22
T 32.5 38 46.5 56.5 72 89 110 140 175

HE/RE
«TC-M1 Bore/Symbol
22 28 28 30 32 38 40 50 30

A
B 66 86.6 915 115 126 1567.5 175 215 255
c 40 54 54 70 70 20 90 10 32
D " " " " 1 19 19 24 125
= 0 N I I I 8 S A - w7 o s m ow o w0
Bore,/Symbol F 60 75 75 85 85 15 115 140 284
s 115 180 G 80 100 100 110 110 155 155 190 314
T 325 38 465 565 72 89 10 140 175 H 52 65 75 90 112 135 170 210 60
DC 22 25 27 32 36 M 50 55 60 1 12 16 16 20 20 25 25 32 92
DD 9 12 12 15 15 20 25 30 30 J 20 27 31 42 54 68 80 100 17.5
DE 10 12 12 16 16 20 25 30 30 K 50 63 75 90 110 132 160 200 26
DJ 13 16 17 22 22 27 33 35 37 L 62 79 91 10 130 157 185 232 50
DQ 25.8 27.8 317 38.7 497 59.7 697 897 897 M

77 98 110 133 153 185 213 267 60

005 | www.ptce.net 006 | www.ptce.net




DNC/SIRIFEES T LENY
DNC /S| STANDARD CYLINDER INSTALLATION

ACCESSORIES

I1IS08001:2000

w40 i R <t/ Overall Dimension

N NGQ
= YHE /Y type ND
NP
-
L gé}: :  —
<|m =z
oo |
Ly 2™ y, s
Nanch
@NE
I8/ | |
Bore/Symbol Ha NC ND NE
32 19 10 40 52
40 25.4 12 48 67
50 32 16 64 a8
63 32 18 64 a8
80 44.4 20 80 112
100 44.4 20 80 112
125 54 30 110 150
160 70 as 144 195
200 70 35 144 185

» % 3h{E5/Floating type

PK
PA

28|

p\-\u PHa
PN

Iant

PJ

007 | www.plce.net

100
128
160
200

RS
Sora/Symbol

32
40
50
63
80
100
125
160
200

NG

20
20
23
23
30
30
45
55
55

&8
58
20
80
102
102
147
251
251

22
22
27
27
29
29
54
72
T2

= I3 3L/ 1 type

NF

24
32
3z
40
40
61
65
65

NH

M10X1.25
M12X1.25
M16X1.5
M18X1.5
M20X1.5
M20X1.5
M27X2.0
M36X2.0
M36X2.0

21
21
41
41
46
48
54
115
115

26
28
245
44.5
53
53
62
80
80

1.8
1.8
20
20
24
24
39
80
80

7
8
10
10
13
13
14
18
18

PB|F‘G|PD|F’E|PF|

26
32
40
40
46
46
86
80
80

10
12
18
16
20
20
30
35
35

20
24
28
28
35
35
51
56
56

43
50
84
64
77
77
103
125
125

56
66
84
84
100
100
138
165
165

NM;

NE
ND
NF NG NH
! T
1 A
i S
({ 1
==
|
NP [ [#] PA | PB
20 52 26.2 20
24 62 28 26.5
32 80 393 33
32 80 393 33
40 108 53.3 45
40 108 53.3 45
53 1561.8 66 55
73 185 83 Al
73 191 83 71

10
12
17
17
22
22
30
38
36

M10X1.25
M12X1.25
M16X1.5
M16X1.5
M20X1.5
M20X1.5
M27X2.0
M36X2.0
M36X2.0

E

M10X1.25 13
M12X1.25 13
M18X1.5 15
M10X1.8 15
M20X1.5 15
M20X1.5 15
M27X2.0 15
M36X2.0 16
M36X2.0 16

M10X1.25
M12X1.25
M16X1.5
M16X1.5
M20X1.5
M20X1.5
M27X2.0
M36X2.0
M36X2.0

19 17
22 18
27 22
27 22
34 30
34 30
46 41
58 50
58 50

14
16
21
21
25
25
35
43
43

SC/SURJ| 4= & " il
SC/SU SERIES STANDARD CYLINDER

1508001:2000

SC/sU 8C-8/8U-8 SCD/sSUC SCD-8/SUD-8 SCJ/sUJ SCJ-8/sUJ-8
Ml Ajﬁ . 1Bl . dﬁT nr IV ! A
A1 gl 1 [f 7 7
I I I [
7 ¥ #3/Ordering Code
sC - D - 50 X 50 - 20 S - L‘B
B E& X/Fixed Type
T SCJAETT :
SERERGE g[yﬁnder Sﬁcﬁe SUJ%EEE = E";ﬂ
DA T zh A Bore $CJ adjustable LB:slEEES
SRR stroke type FARREER ( @EX)
Blank:Standard Double Action 8UJ adjustable FB:RREIER (RE=)
D:Double-Shaft Double Action stroke type CARREESR (2HF)
J:Double-Shaft and adjustable ®A CBEmEIRHE ( WHH )
BB/Type gioke type Magnet code TC:HEEES
SCHHrx SHA TC-M:HE 2 =, Bt i B
SUR#F A B =5 A Blank:basic type

S:attach magnet

SC:PullRod T
o noc 1ype Blank:not attach magnet

SU:Hidden Pull Rod Type

[ j‘[\ﬁﬁ‘d‘jﬂqera” sl gt 4 00 08

LB:front and back fixed type

FA:front cover fixed type{Front flange type)
FB:back cover fixed type(Rear flange type)
CA:back cover fixed type(Single Earring}
CB:back cover fixed type(Double Earring)
TC:swinging type

TC-M:swinging type attaching foot seat

&/ Bora{mm}
#4E R X/ Motion Pattern ¥ 8/ Double Action
T & fr B/Working Medium B 5/AIr

B & % */Fixed Type ® & 8/BasicType FABE/Type FBE/Type) CAZ/Typa CB&/Type LBE/Type
EFF.IE?J?EE Bar 1~9.0
Operating Voltage Range i
RIEMED Bar 13.5
Ensured Pressure Resistance :
EREEIEE mm/s 0~70
Operating Temperature Range
{5 F 8 1 ¥ B mm/s
Operating Seppd Ranga bUgs
% 1h & K/Buffer Type 4 i & I/ Buffer spacer
# % O #&Joint Plpe Bore G1/8 G1/4 G3/8 G1/2 G3/4

008 | www.ptce.net



SC/SUR 5| #x & ST

(.- NBPT

~/

PHEUMATIC

SC/SUR 3 #r fE S il % 5% i #F
SC/SU SERIES STANDARD CYLINDER

=

~/

NBPT

PHNEUMATIC

SC/SU SERIES STANDARD CYLINDER

mmm 5 2 R <f/Overall Dimension

INSTALLATION ACCESSORIES

A+{T#2 (Stroke) .

-8 - CufF8 (Siroke) ] * FAFBE EAREIRIREIEIEIEIE)
= = FA/FB Flange BA 283 323 383 383 473 473 56 63 81
| 2-4% M 48 £ (Buffer Nut) »ioﬁ BB 10 10 10 12 16 16 20 25 25

Q)| ST BC 47 52 65 78 100 120 140 180 220

« SCE A% /Basic ‘ : L BB BD 33 36 47 56 70 84 90 115 135

TG - o  Ae TTBH BE 72 84 104 116 143 162 224 280 320

‘. \JJ . et A7 e BF 58 70 8 98 119 138 180 230 270

| 3_\[',_?@'\ ’TN_’—‘- i ’ ) Jj< BH 65 65 65 85 105 105 15 20 20

—————— ﬁm;(wmth)a JiEq AJ 105 105 135 135 166 16.6 19 25 25

ten AK 65 65 B85 85 105 105 125 165 165
Eﬂ— BP 7 7 9 ] 12 12 16 18 22
A1+{T (Stroke) x2 G 33 37 47 56 70 84 110 140 175
B C+7 72 (Stroke) .. BHTE(Stroke)
E }E G j‘ ;__G F | EHT#2(Stroke) ) CAEE%
J |20 W ﬁ ) R/

* SCOM4H T e v oasepmma | 22 | 40 | o0 | o3 | o0 | o0 | s | tso | a0 |
Double-shaft Hsa ekl 1 L s 48 50 62 75 94 112 140 180 220
Double action S [T@ﬁ‘ S — - [ { ﬁ\f—\ﬂe T 33 37 47 56 70 84 110 140 175

/ﬁ _.>+'i i | J C DC 34 34 34 34 48 48 50 55 60

K M“ | i DD 14 14 15 15 20 20 25 30 30
JEiE o \z_g;mug o 4B (Width) DE 12 14 14 14 20 20 25 30 30
(Width) (Buffer Nut) DJ 14 14 15 15 20 20 25 30 30

o) 16 20 20 20 32 32 70 90 90

A2+1T #2 (Stroke) x2+i% ¥ {7 #2 (Ad]ustableStroke)

B C+{7#2 (Stroke) - 58 =
_g_l_F.’_(ﬁtroke ~ T/
e * CBREH EEAERIEREEIEIEIEIE]
e Ll CB Double Earring ce 19 19 19 19 32 32 50 55 60
o SCJREEzNATiEEY : gl\ ‘ | cD 5 5 3 3 8 8 25 30 30
Double-shaft and =i | 8 us ccel CE 12 14 14 14 20 20 25 30 30
adjustable stroke | | \"=/2) | e LMY oA | | l _% l ] nii cJ 13 13 15 15 21 21 25 30 30
4 R T o = cp 16.3 205 203 203 323 323 70 90 90
L B ] = cT 32 44 52 52 B4 64 120 160 160
4EIE Ao&ﬂﬂ'ﬁﬁ»b\* REE |‘ TN PA1 PAI 41 518 603 603 738 738 130 170 170
(Width) (Buffer Nut) (AdjustableStroke) |J M ANCD PB1 PBI 335 458 54 54 65.5 655 121.5 1615 1615
Lol \ “ | s 48 50 62 75 94 112 140 180 220
HE/fms = 2CE = T a3 37 47 56 70 84 110 140 175
G | A | m [aefe JoJole]efoln] o] « |
32 140 187 182 47 93 28 32 15 215 2 17 8 M10X1.25
40 142 191 185 49 93 32 a4 15 275 24 17 7 M12X1.25
50 150 207 196 57 93 38 42 15 275 32 23 8 M16X1.5
63 153 210 199 57 96 38 42 15 2715 32 23 8 M16X1.5 e LBHJZ2/LB Foot Rest nnﬂmm
80 182 257 242 75 107 47 54 21 33 40 26 10 M20X1.5 Bore/Symbol
T 188 263 248 75 108 47 54 o == 55 10 —— ﬂ4—¢AP AA 153 169 173 184 200 210 249 328 380
o L 7 ! 104 122 55 70 a4 o 40 10 WS NSEAOS E@ ‘ A AC 134 140 149 158 168 174 213 288 320
160 291 / / 123 168 62 91 32 48 72 55 18 M36X2 mj &tm* l.*)’ +. AD 9.5 14.5 12 12 16 18 18 20 30
500 e , ; 187 180 80 | 412 55 T 55 18 Y 1AG _IAg S AE 50 57 68 80 97 112 140 180 220
| |AD - | |AD T AF 33 3 47 56 70 84 90 115 135
AC+1T 12 (Stroke) ool
= == AG 205 235 28 31 30 30 45 60 70
GLE/fFS AA+T#2 (Stroke) ” L<Ll£ AJ 28 30 365 41 49 57 90 115 135
Soooon |+ m | wlojefalrls T )v]w] 2z | ol -
e S AP 9 12 12 12 14 14 16 18 22
32 M6X1 95 137 PTI8 35 75 7 45 3 12 12 21 o A g . 5 § . =
40 M6X1 95 135 PTU4 6 8.2 9 50 37 18 14 21
50 M6X1 95 135 PT1/4 85 82 9 62 47 20 17 23
63 M8X1.25 95 135 PTI8 7 82 85 75 56 20 17 23
80 M10X1.5 115 165 PT3/8 10 o5 14 94 70 25 22 20
100 M10X1.5 115 165 PTU2 11 95 14 12 84 325 22 29
125 M12X1.75 15.5 16.5 PT1/2 / / / 140 110 32 27 /
160 M16X2 175 25 PTI2 / / 180 140 40 36 /
200 M16X2 175 25 PT34  / / / 220 175 40 36 /

009  www.ptce.net 010 www.ptce.net




SC/SUR I 5 M < i &2 2% Ml

SC/SU SERIES STANDARD CYLINDER
INSTALLATION ACCESSORIES

1S09001: R

® TCHIE/TC Swinging

€

NBPT

PHEUMATIC

SINO-KOREA
NINGBO BOTE PNEUMATIC

=
E
! =
il wR/ne =
=Sk Bore/Symbol 8
or [ f | (eMm 13 264 2
O m 4 il 8
m O Ly diwts EC 63 76 88 1065 133 160 200 240 @
(w] [N .‘_L".'df‘i ED 37 47 56 70 84 110 140 175
NI X EE 63 76 88 114 132 160 200 240
¢LE—IL EG 25 25 25 25 25 25 32 48
EG EP 25 25 25 25 25 25 32 48
E \;_\—/]ﬁ ET 30 30 30 35 40 30 38 44
w ‘ NPT s 455 555 685 875 107.5 1345 1755 2125

® TC-M

oL N N 0 ) T T B
Bore/Symbol

110 455 109 81.5 2
50 110 80 55.5 22 122 99 88 50 23 2 12 1"
63 110 80 68.5 22 134 11 94 50 23 2 12 1
80 120 85 87.5 22 160 137 127 70 23 2 12 13
100 120 85 107.5 22 178 155 136 70 23 2 12 13
= it R
= &L 1
) 3 i ® 3 i .
Y#£3k/Y Connection 13£3k/1 Connection Cy{mder theory output Sheet
~—~5!N1.£‘, s )
i I _ 9] 1O
0L cmmml-ﬂﬂ--ﬂﬂ--n-
11
— RN FERTHE
H’;" l d = External Diameterof Piston Rod
‘ )
<@ ‘ | ( Lk Lo  EE L t L
oo ‘—*; %o = P gg Double Action ﬁ% Double Action Eé}i Double Action ggj Double Action gg Double Action
= Iy Motion Pattern Singie- gy M Singie- Jmgy fxfM Singie- mgi M Singie- ?ti!! Singie-  ym g mu
1 ! i
= r4 R || action jon Pull action : Pﬂ action on Pull  action action ||
oy il g = e Side g6 Side ids" Side E’g‘m S B &8
AN z| % [ @ (cm”) 201 201 1.81 314 314 264 490 490 412 B804 8.04 6.90 1256 12.568 10.55
ONK T Compression Area 1 d b i z : E k : d E 2 k ¢ K
1 - 201 1.81 - 314 284 - 490 412 - 8.04 6.90 - 12.56 10.55
e I I ) I T T T 3 EA RS
Bore/Symbol 2 - 402 382 157 628 528 245 9380 824 402 16.08 1380 628 2512 21.10
M10X1.25 19.5
g =r I 5 S = o = N o o = 5 7 = 32_8 T 3 2.01 6.03 543 471 942 7.92 7.35 1470 12.36 12.06 24.12 20.70 18.84 36.78 31.65
50 32 32 16 64 89 32 23 M16X1.5 22 30 16 32 83 393 33 4 402 8.04 724 7.85 1256 10.56 12.25 19.60 16.48 20.10 32.16 27.60 31.40 50.24 42.20
63 32 32 16 64 89 32 23 M16X1.5 22 30 16 32 83 39.3 33 ESEN
ED ana | 4 e 5 TR | o o e e e B R R G Af_K(:F/cm’) 5 6.03 10.05 9.05 10.99 15.70 13.20 17.15 24.50 20.60 28.14 40.20 34.50 43.96 62.80 52.75
Ir Pressure
100 444 40 20 80 112 40 30 M20X1.5 30 39 20 40 105 533 45 6 8.04 12.06 10.86 14.13 18.84 15.84 22.05 29.40 24.72 36.18 48.24 4140 56.52 75.36 63.30
125 55 45 25 10 155 40 56 M27X2 30 54 48 64 148 64 88
D T = T o T 1 = T 75 = 55 = T & 55 5 7 10.04 14.07 12.67 17.27 2198 1848 26.95 34.30 28.84 4422 56.28 48.30 69.08 87.92 73.85
200 80 54 30 120 130 35 50 M36x2 40 54 40 35 150 91 81 8 = = - 2041 2512 21.12 31.85 39.20 32.96 52.26 64.32 55.20 81.64 100.48 84.40
9 = = - 2355 28.26 23.76 36.75 44.10 37.08 60.30 72.36 62.10 94.20 113.04 94.95

011 |www.ptce.net

012 | www.ptce.net



MALF 31 2 ¢ *{ i
MAL SERIES MINI CYLINDER

1508001:2000

Sk R 5F/ Overall Dimension

MALZF 51 2% R T (. NBPT

MAL SERIES MINI CYLINDER

1S08001:2000

* MAL-CABREZ
Swiveling tail type

013 | www.ptce.net

A+{T 8 (Stroke)
C+{T 8 (Stroke) D
AY G G_8 oP
| i 2.X &2 R
2P inivd
= il iLd
o) 2 <13
MALD MALJ MTAL MSAL = S—
MAL-S MALD-8 MALJ-8 MTAL-S MSAL-S * MAL-CME R &
:%ID EID E_ :%ID Round tail type A1+§5 2 (Stroke)
C+{718 (Stroke) D1
G < oP
G2 _R1
iT M #8/Ordering Code gﬁ /ﬂ r*
MAL - ) 20 X 50 25 S LB VAl i
| | | | ‘
HARS EE&N L
E&ER e 71 MagnotCode @R EAD
# 2/Type =H: %Eiﬂ Cylinder Bore Stroke o SHER LB B S E &
MAL:# 555 CM_, MALLTTRITR  espEFMa FAN 2 B =2
MSAL: & gh & U:ER MALJ:adjust-able §:attach magnet SDB:FZRER = MAL-UEREH®
MALD: Mg ma  Back C?VﬂfTvpe stroke type Blank:notattach Fixed Type Flat tail type A2+{T12 (Stroke)
MALJ: T Sh AT A& Blank:Fishtail type magnet Blank:basic type _
MAL:Double Action ~ CM:Rounded type LB: front and back fixed type B C+{T# (Stroke)
MALD:Double-shaft U:Horizontal type FA:front cover fixed type AY E F..G G
Double Action SDB: back cover swinging type I H M
MALJ:Double-shaft and J AB_“]__‘C: 2 2-X
adjustable stroke type *"| [~ gﬂ T =
eyl e el
s 45 /'S e Cifiica ] O 1 N — A

# 8/ Bore(mm) | 18 | 20 | 25 | a2 | 40
71 1£ % /Motion Pattern MAL. MALD. MALJ#ZE¥I(Series): ® 1% (DoubleAction): MSAL. MATL# #](Series): 2 31E(Single Acticn)
T & 4r Bi/Working Madium 28|/ Air
EERRIFixed Type X Kk BI/BasicType LBEI/Type FAE/Type) SDBE/Type
BHEEARE Bar 1-9.0
Operating Voltage Range ’
R iEW & 71 Bar 13.5
Ensured Pressure Raesistanca i
A TEE mmis 0~70
Operating Temperature Range
EREHEER mm/s
Operating Speed Range BUSSTD

& B F/Buffer Type &t /Buffer spacer

i % O #%/Joint Plpe Bore M5X0.8 G1/8

K
20 131 122 110 40 70 21 12 28 12 18 20 12 [} M8X1.25
25 136 128 114 44 70 21 14 30 14 18 22 17 6 M10X1.25
32 141 128 114 44 70 27 14 30 14 18 22 17 B M10X1.25
40 165 152 138 48 92 27 14 32 14 22 24 17 7 M12X1.25
A ORI
Bwsm

M22X1.5 PT1/8 7

M22X1.5 12 8 18 19 12 34 10 8 PT1/8 T
32 M24X2.0 12 10 16 25 12 15 39.5 12 10 PT1/8 8 37 32
40 M30X2.0 12 12 20 25 12 15 49.5 16 14 PT1/4 9 47 41

014 | www.ptce.net



MALZ 31 2% 1 i (=, NBPT MALZ 3| 2 ) < & (=, NBPT
MAL SERIES MINI CYLINDER ~/ MAL SERIES MINI CYLINDER ~/

1S08001:2000 | 1S09001:2000 B

w5 2 R 5f/ Overall Dimension mmmm 5 fi2 R <}/ Overall Dimension

°* MSAL-CAZER

Swiveling tail type A+{71 (Stroke) « MALDX 34 & 31 B!
T C+{712 (Stroke) D Double-shaft Double Action
G, G .S.l 2P
2-X X FG‘@*‘BI - A+{T12 (Stroke) x2 N
' f Sf - C+7 %2 (Stroke) ... BH{T¥ (Stroke) |
s Q
v

I

=

® MSAL-CM[E E &

Round tail type - A+{718 (Stroke)

C+{73% (Stroke)
* MALJS 3 5 31 7 1§ &
T;*‘"'x\\] Double-shaft and adjustable stroke type
U A
B \S%)
b 4 A+{T72 (Stroke) x2+i§#17#2  Adjustable Stroke N
l‘ C+{T %2 (Stroke)
G
G2 _F 111 (Stroke)
2-X _ J
— i
* MSAL-UF R & - A2+{7¥ (Stroke) - e j‘l :?—?% ﬂ
Flat tail type C+1T#2 (Stroke) G*. L @
L L o
X THEEITE
24 Pas Adjustable Stroke

5 _ ;_ ’,
— — S— N - Q L\ 1 /
~ W/ S ™
. ‘ Elars.fSymboi
150 M8X1.25 M22X1.5 PT1/8
158 70 14 22 17 6 M10X1.25 M22X1.5 12 34 10 PT1/8
32 158 44 70 30 14 16 22 17 6 M10X1.25 M24X2.0 12 395 12 10 PTi/8 8 37 32
40 184 46 92 32 14 22 24 17 7 M12X1.25 M30X2.0 12 495 16 14 PT1U4 9 47 41
* e ﬂﬂ-ﬂﬂﬂﬂ-._-ﬂ.--ﬂ-ﬂﬂ
i ﬁﬁ o 'ﬁﬁﬁﬁﬂ ﬁmm s
Bore/Stroke 147 M8X1.25 M22X1.25 PT1/8
20 156 181 206 147 172 197 135 160 185 120 145 21 12 28 12 16 20 12 6 — — — ER ER NRTCETPo5E ST ma Sl S| G e (7 Wl B
160 185 210 158 178 208 136 164 189 44 2018 ISR SN 211N S RS ON IRTE) IS 228 WAl N6 32 155 44 70 30 14 16 22 17 6 M10X1.25 M24X2.0 12 21 395 12 10 PTi/8 8 37 32
32 WG] IO I TR RID0) |17 ST 2008 §1155) TGN {7820 (I 95 120 1 ) 27 | ik 3° i 16 228 I C 40 180 46 92 32 14 22 24 17 7 M12X1.25 M30X2.0 12 21 495 16 14 PT1/4 9 47 41
190 215 240 177 202 227 163 188 213 46 117 147 167 7
AR/ATE n
Slmke
M8X1.25 M22X1.5 PT1/8 7
M10X1.25  M22X1.5 12 16 12 12 34 10 PT1/8 7
32 M10X1.25  M24X2.0 12 10 16 25 12 15 395 12 10 PTi/8 8 37 32
40 M12X1.25  M30X2.0 12 12 20 25 12 15 495 16 14 PTi4 9 47 41

015 | www.ptce.net 016 | www.ptce.net




MAR 31| 2 ¢r < &L
MA SERIES MINI CYLINDER

(.-, NBPT

MA-S MAD-8 MA.J-S 7MTA-S MSA-S
+— ¥ e P el
| \ \ | \ T \
iT W #8/Ordering Code
MA U 20 X 50 25 S LB
8= /Type BExzas e T8 MALJ TiE{TIE ®WRE/KS Eif%: o
MA 8 518 wh:EEm CylinderBore Stroke MALJ adjust-able  Magnet Code EH:EAE
MSA: Bz & CM:ERH stroke type SHE LB:_EIEEE
MAD:MIEHR y.E28 EIEI'JFWW FA:fT %= B EH
MAJ: R 3 AT AR Back:Cover Type : SDB:EEBER

MA:Double Action  Blank:Fishtail type
MSA:Single Action CM:Rounded type
MAD:Double-shaft U:Horizontal type
Double Action

MAJ: Double-shaft and

adjustable stroke type

#i #&/Specification

S:attach magnet  Fixad Type

Blank:not attach  Blank:basic type

magnet LB : front and back fixed type
FA:front cover fixed type
SDB: back cover swinging type

T R

W B HK B B/ Double Action or Single Action

®1{£ B X/ Motion Pattern
T fE4r R/Working Medium

EE#AR/Fixed Type
ERAEAHEE Bar

Operating Voltage Range

fRIEMES Bar
Ensured Pressure Resistance

EREREER C
Operating Temperature Range

ERREEE mm/s
Operating Speed Range

#£ & S/Buffer Type

#% O #2/Joint Pipe Bore M5X0.8

25 | 32 | 40

BR/AIr

& & 8/BasicType LBE/Type FAENTypa) SOBE/Type

1~9.0
13.5
60~70 "0
a0~800
& v 3 | /Buffer spacer

G1/8

MAZ 312 i1 T (.-, NBPT
MA SERIES MINI CYLINDER

(

1S09001:2000 ]

mm 5 R <F/ Overall Dimension

L \ A+{TE (Stroke}
# MA-CAE B 81/ Swiveling Tail Type A G+ E (Stroke) D
@16~140 AY E . E.G._ |
- '—1- I-\g L ‘ 2-X
L ! i _
s = Thn, (X1 T
& 2 i L @ ci@@
hw/

e (R

A+{T & (Stroke)
B CHTH (Stroke)

® MA-CAIZ R 8I/Flat Tail Type
&16~240

5
20 137 1186 40 78 21 28 12 16 20 12 ] M8X1.25
25 141 120 44 76 21 30 14 16 22 17 ] M10X1.25
2 147 120 44 76 27 30 14 16 22 17 ] M10X1.25
40 148 122 48 78 27 3z 14 18.7 24 17 7 M12X1.25
P W AR
16 M16X1.5 14 6 12 14 ] 21 8 5 M5 ] 25 22 =
20 M22X1.5 10 8 18 19 12 27 8 6 PT1/8 7 33 29 a
25 M22X1.5 12 8 16 19 12 30 10 8 PT1/8 7 33 29 10.5
2 M24X2.0 12 10 16 25 15 35 12 10 PT1/8 -] 37 32 13
40 M30X2.0 12 12 20 25 15 41.8 16 14 PT1/8 2] a7 41 15
. 174+{7# (Stroke)
# MA-CM[E B #/Round Tail Type 52 95+{T 1 (Siroke) 27
B50~®63 46 32 __20 23 2.PT1/4 23 A1 20a

1 T gg i - 4{ 2EE
B ma >
NN - —7
( # ” iE @

S ; ﬁ
i ol 2
Y S il §
Mi4x1.6/ w g ‘ '
#12
U3t I mime
® ERE/Flat Tail Type # EB&/Round Tail Type
167+§T15 (Stroke)
147+{748 (Stroke) 23 20 BEHES
95+17# (Stroke) ; 19 Bora/Symibol
[ / 3 50 53 16
| | 63 67 16
o
Ik A
| | =

017 | www.plce.net

018 | www.plce.net




MAL/MAZ 3| Sk R SEL 3L 4 MAL/MAZ% 3 2K R < KL 32 3< P 15

=

NBPT NBPT

MAL/MA SERIES MINICYLINDER PHEUMATIC MAL/MA SERIES MINICYLINDER == PHEUMATIC
1S09001:2000 N ] 1S09001:2000 N
mmm 5h 3% 30 #8/ Outer Specification mmmm 5p #0148/ Outer Specification
- 0y A 0y A
FA am * Y# 3k/Y Connection * 3% 3/1 Connection
B C{T#Stroke #20~225 _BC  2~@BP ®32~240
I S
— /j\ [TREIT]
&;{" i ;%;7" m| m
f)*j. PA
PB
‘:_
Bm o] e ..ﬂﬂ.ﬂ- - I
(MAE31)
c nndarﬁm mm
38 110 3
20 40 76 101 126 151 4 - 50 65
25 44 76 101 126 151 4 38 - 64 50 6.5 14
32 44 76 101 126 151 4 47 33 72 58 6.5 14
40 46 76 101 126 151 4 50 36 84 70 6.5 14 mﬁlﬁﬁ
7 0 0 T T Y S T E ES S A
«| B B 12 125 M6X1 12.5
E 16 8 30 M8X1.25 10 16 14 8 15 16.5
T _ﬁij]m. 25 19 10 40 52 15 20 M10X1.25 12 20 18 10 10 20 52 25 19.5
| Ll Lt =il
E\rﬂt ,,,,, L ol __:.!7 32 19 10 40 52 15 20 M10X1.25 12 20 18 10 10 20 52 25 19.5
b= U ' ' i 4~0AP 40 25.4 10 48 67 15 25 M12X1.25 20 24 23 14 10 20 57 31 26
[l === — b
I | cul—
AQ AL AL_AQ
AB ’_ AC+{T #2/Stroke i
AA+{T#2/Stroke
MJ aR/me
, 30me
?‘?w—-’Symbol AA(MSA#RT|/ Serles) AC (MSAR ]/ Serles) 1.5 MB8X1.25 MBX1.25
"'“""51 100]ror-1so) | uiHE " 5 8 22 7 21 2 15 7 10 MIOXI2Z5 MIOXI25 12
123 5 32 58 22 7 21 26 11.5 7 10 M10X1.25 M10X1.25 12
B T T T o T T T B 40 58 22 8 21 28 115 8 12 M12X1.25 M12X1.25 12
25 7 A EEEE Wl o (2 2N BEGE ) RS Ea 8 50 70 225 85 28 345 13 8 15 M14X15 M14X15 13
32 4 AT TS S ETE [ i ST ik GASHE T (2D Z 63 70 225 85 28 345 13 8 15 M14X1.5 M14X1.5 13
40 48 14 142 167 192 217 21 126 151 176 201 64 50 25 8 6.5 45 36
» SDB F
CB+{7#2/Stroke
ﬂ&/ﬁ@
ﬂﬂﬂﬂﬂﬂﬂﬂ
. - M8X1.25
4~dCP 26 10 56 M10X1.25 13 19 17 14
5 = 32 11 286 10 20 43 56 M10X1.25 13 19 17 14
— 19& 40 12 32 12 24 50 66 M12X1.25 13 22 19 16
I 1 T 1 m‘ 50 15 40 16 28 64 84 M16X1.5 15 27 22 21
f— -] o
. J 63 15 40 16 28 64 84 M16X1.5 15 27 22 21

ﬁﬁ’/ Sym Iml

B
16 5

20
25
32
40

019 |www.ptce.net

21 12
27 15
27 15

51
16 51
16 51
20 55

107 132 167
128 153 178
132 157 182
135 160 185
137 162 187

203
207
210
212

48
52
56

67
67
71

32
36
40

6.5
6.5
6.5

& bW ow

22
24
28

020 www.ptce.net



MR 3 2% R ST ‘NBPT NBPT MIF 5 28 R ST ‘NBPT NBPT
MI SERIES MINI CYLINDER \/‘ - e MI SERIES MINI CYLINDER \/ ik

1S09001:2000

S ER 4 AR/ Outer Specification

= CABL/CA Type A+HT 2 (Stroke) o]
A1+ (Stroke)
N G1
. 2 ‘ K| Y M 2-X F.|oPigs) s
5, o n: I
j =N * \ComEE 21 mil J S e
7 4 . ‘ =T - i @'
‘.% @/I @ %:% C =l _ | |
Y sl — i and
MI MI-S MTI MTI-S MID T H g I G D Q
A3+{T#& (Stroke)

MSI-8 MIC MIC-8 MID-S

MsSI
» REl/R Type « CMEl/CM Type =UEl/U Type
Y 2:M8X1
T 1 %8/Ordering Code 2X ggo:mom

HEZ IR
T ek p _._'Q_._
M 2‘0 X 50 s LB lﬁ o A i s
‘ g f7i2 _ ] _ c1 | w IL‘ )
B E/Type Cylinder Bore Stroke MOR= EE R/Fixed Type c c1
M :EzhEExE Magnet Code BH AR Pt
MID XY % 5 3 &) S:HMEA LB: 75 Bl = 8 BRoASHTE (Stke) =Ad+
M1 T 18 % B B FABIREED
MI:Double Action S:attach magnet SOB:R=EER
MID:Double-shaft ' Fixed Type
Double Action Blank:not attach magnet Blank:basic type = .
MIJ:Double-shaft and LB: front and back fixed type oy oo e " s - 5 S 19 12
j S0B: back cover swinging type = E 3 4
adjust able stroke type aina e 74 - = 28 12 95 5 95 5 6 15 7 12 12
88 = > 38 17 105 & 105 8 8 125 8 8 17
94 111 94 38 17 105 B 105 @ 8 125 8 18 17

s
I 5/ S e C . ] O/ 1 106 128 108 44 20 145 75 145 7.5 12 145 7.5 20 20

25 126 104 85 137 115 137 1145 50 22 155 8 18 8 12 1B 8 22 22
F9 8/ Bora{mm) 32 S o o S 125 140 126 58 14 155 8 o o - 165 9 20 30
40 o o o o 158 174 158 €9 16 22 M5 - o o 22 12 24 35
# £ ¥ X/Motion Pattern EEE, BFHFHB, BT AB/Doubls Action, Single action Extrusion-typa,
T £ 4+ B/Working Medium BS/AIr
M v
EE#RX/Fixed Type & ¥ 8/BasicType LBE!/Type FAE/Typs) SOBE/Type
8 25  M4XD.T M12X1.25 6 16 10 17 4 B 12 18 7 17T MEX0.8 4 =
X E?ETE :" 1~8.0 10 25  MAX0.7 Mi2X125 6 16 10 17 4 & 12 15 7 17 M5X0.8 4 - -
pe':"ﬁg ﬁ;;g; Sde 12 5 MEx1.0 M16x1.5 ) 12 14 20 8 12 16 18 10 22  M5x0.8 8 =
ar
T e T et et M AP 13.5 16 5 M8X1.0 M16X1.5 6 22 13 22 & 12 16 20 10 22 M5X0.8 6 1356 &
= , 20 6 M8X1.25 M22X1.5 7 2 1 28 8 16 22 25 12 29 G1/8 8 1656 6
ERAEREXREC 0~70"C
Oparating Temperature Rangs 25 6  M10X1.25 M22X1.5 7 28 1M 335 8 1 22 30 17 29 G1/8 0 185 8
ERREEE mmis Founs 3z 6 M10X1.5 M30X1.5 7 38 - 35 - - 30 345 17 36 G1/8 12 105 10
Operating Spead Range 40 7 M12X1.75 M38X1.5 8 45 - 485 - - 3 425 17 46 G1/4 16 125 14
4 ih & S/Buffer Type i# &k /Buffar spacer
# % [ &/Joint Pipe Bore M5X0.8 G1/8

o021 mw.ptcﬂ.nﬂt o o e I I I I I I I I I I I I I I I I I I I I I I I I I I I I I I I I I I I I I I I I I I I I I I I I I I I I SIS S SIS SIS SIS N 022 | m.p!{:ﬂ.ﬂﬂ-t




CJ2B# 3| 2 tr Ui
CJ2B SERIES MINI CYLINDER

1S09001:2000

T B #8/Ordering Code

CJ‘ZB

CJ2B& %

SMC CJ2B Series

(.. NBPT

- ’ e PHEUMATIC
&/ Bore a 10 18

I{E4 B\Working medlum BS/AIr

HRiEm & A 10.5

Ensured Pressure Resistance :

w2 & 71 Bar 7

Maximum Working-pressure Mpa

B{EERE D Bar 12 0.8

Minimum Working-pressure Mpa - -

ERREREERC

Operating Temperature Range -10~70°C

ERMER /

Operating Spggcrin Rsa)nge 50~750mm/s

8 B =/ Cushion type 7 85 4% 7 £ iwh (8% i) Both ends cushion

{748 £ &/ Tokerance of Stroke +1.0mm

A T

R [ 712 S:Mi#A THEN
l\!flglt]ir;kpﬂattem Bore Stroke TEAHBE R
Blank-Double acting 6 :06 S:attach magnet  Blank:Vertical
S :Ilg gjlg Blank:no attach R:Horizontal
8:Single acting spring extent ) magnet
T#&z3 A8
T:Single actingspring return

CDM2BR 5| 2R S
CDM2B SERIES MINI CYLINDER

i] My 58/Ordering Code

C[‘)MZB

CDM2BE 7
SMC CDM2B
Series

023 | www.ptce.nat

I—Tl -

R ER R

Motion pattern

TR EAR

Blank:Double acting
S:ampma

§:Single acting spring extent
TEz7 AR

T.Single actingspring retum

T N N

T {4+ B/ Working medium
2 {E8! %/ Motion Pattern

T & /& i/ Working Pressure

AR EEEC
Qperating Temperature Range

# B X,/ Cushion type

13 M i BE 35 B (mm/s)}
QOperating Speed Range

- 1‘5

T8
Stroke

BE/AIr
¥ 7 3./ Double Acting
0.05~1.0Mpa

-10~70°C
B (R, SR (30

Adjustable cushion optrenal

50~750mm/s
) i
S:HEA THER
=i= Nl o R34 15
S:attach magnet Blank:Vertical
Blank:no attach R:Horizontal

magnet

SEEEH AR

Cylinder theory output Sheet

(]
(CylinderBore)| Extomal lacsaiar of Fistonrod
[mm) {rmm}

12 B
18
20 8
25 10
32 12
40 16
50 20
63 20
80 25
100 32

Lyt A
Mation Pattarn

45 14 8 &b Sgladction Exirusion
Sl A B3]/ Single Astion Drawingin
- 1/ Chargeside
Double Actlien 3 mi/PuliSide
# tt & =)/ SinglaAction Exirusion
31 A &30/ Single Action Drawingin
Double Actlon 3y mi/PullSide
$ Ht & )/ SingleAction Extrusion
5| A BL%1/SIngle Action Drawingln
& #fll/ Chargaside
Double Action 3 g1/ PullSIde
#7 1 % 3/ SingleAction Extrusion
Sl X\ B 51/ Single Action Drawingin
i/ Chargeside
Double Action 37 mi/PuliSIde
# th & 3%/ SingleAction Extrusion
3] A\ B3/ Single Action Drawingin
Double Action 3 qi/PullSide
#1 i S 8h/ SingleAction Extrusion
5| A B.3)/Single Action Drawingin
# i/ Chargeside
Double Action % mi/PullSide
# tt & =)/ SinglaAction Extrusion
31 A &30/ Single Action Drawingin
ahE I/ Chargeside
Double Action 3 mi/PullSide
# i 4 5h/ SingleAction Extrusion
S| AB.8h/Single Action Drawingin
- # i/ Chargeside
Double Action 3 mi/PullSide
waE 11/ Chargeside
Double Action & i/PullSide
wanE # {ll/ Chargeside
Doubla Action 3 if/PullSide

!Em'.m-
{mm’] 0.1

113
85
13
85
201
173
201
173
314
264
314
264
480
412
490
412
804
890
B804
880
1258
1055
1256
1055
1963
1649
1963
1649
3117
2803
317
2803
5026
4538
7853
7049

SINO-KOREA
NINGBO BOTE PNEUMATIC

I_-}?:'i: lE
A

(=] \af/)
k2
2 S5E B (Mpa) /Alr Pressure

0.2 0.3 0.4 0.6 0.8 o.7
126 23.9 35.2 46.5 57.8 68.1
7.0 15.5 24.0 32.5 41.0 49.5

226 338 45.2 56.5 67.8 79.1
17 25.5 34 42.5 51 59.5
20.2 40.3 60.4 80.5 1006 120.7
14.6 3.9 492 66.5 83.8 101.1
40.2 60.3 80.4 100.5 120.6 140.7
346 51.9 69.2 86.5 103.8 121.1
39.8 71.2 102.6 134.0 165.4 196.8
20.8 56.2 828 108.0 1354 1618
62.8 04.2 125.6 157.0 188.4 219.8
52.8 79.2 1056 132.0 158.4 1848
89.5 118.5 167.5 216.5 2655 3145
53.9 95.1 1363 177.5 2187 2598
98.0 147.0 196.0 245.0 294.0 343.0
82.4 1236 1648 2080 2472 2884
105.3 185.7 266.1 346.5 426.9 507.3
825 151.5 220.5 2895 358.5 427.5
160.8 241.2 3216 402.0 482 .4 562.8
138.0 207.0 276.0 345.0 414.0 483.0
168.5 2938 419.4 545.0 670.6 796.2
128.0 233.5 339.0 4445 550.0 §55.5
251.0 376.8 5024 628.0 753.6 B879.2
211.0 318.5 422.0 B27.5 833.0 738.5
285.6 481.9 678.2 8745 1070.8 1267.1
222.8 387.7 552.6 717.5 882.4 1047.3
3926 5889 7852 9815 11778 13741
3209.8 494.7 659.6 8245 989.4 1154.3
447.4 7581 1070.8 1328.5 1694.2 2005.9
384.8 664.6 945.2 12255 1505.8 1786.1
623.4 9351 1246.8 15586 1870.2 2181.9
560.8 8409 1121.2 1401.5 1681.8 1982.1
1005.2 1507.8 20104 2513.0 3015.8 35182
807.2 1380.8 1814.4 2288.0 27216 31752
1570.6 2355.9 3141.2 39265 4711.8 5407.1
1409.8 2114.7 2819.6 3524.5 42294 49343

024 | www.ptca.nat




SDAR 5| ¥ 8 =i

SDA SERIES THIN TYPE CYLINDER

e FME LIBAAT G

NBPT

(

1508001:2000

SDA

SDAS

SSAS

iT W #8/Ordering Code
SDA - S
|
RIRS HARES
SDAE & Magnet Code
SDAD: R $4 % 2h & Fieriotidetd

SDAJTL B E N RS

Series Code
SDA:Double Act

ion magnet

S8A:single Action

i W
|
STA SDAD SDAJ
__I Al
-I L‘_LLV_'J L‘_LLL’J Al
STAS SDADS SDAJS

==

SDAR 31 ¥ B~

SDA SERIES THINTYPE CYLINDER

1509001:2000

w5130 30 85/ Outer Specification

‘ NBPT

wry NRET

N 2~p16
Ux45°
K138 (Depth)E
= SDA/SDAS
(& 518/ Double Action) 2P <
220~100 D
S R
11
Ux45° - @ T @Lﬁt-;
g :i“\Q\t‘iSC\
Wz e
:| \QJE“:%///J:_N f’

S:attach magnet
Blank:no attach

Extrusion Type
STA:Single Action
drawing in Type
SDAD:Double-shaft Type
SDAJ:Axis complex action

Adjustable
E#/Bora
EER
Action Pattern
T £ 4r Bt/ Working Medium

ERAEAEE
Operating Voliage Ra

¥ #h & /Double Action
¥ 518/ Single-Action

nge

4R1E % & J1/Ensured Pressure Resistance

T {32 B/ Temperature
EHEHE ¥ zh8/Double Actlon
Operating VollagaRange % & /single-Actlon

4 b 3 %/ Buffer Type
% O #&/Joint Pipe Bore

20 - 30 - 30 - B
e 738 1 T Fm
Cylinder Bore Stroke Adjustable stroke Cog Type
10:10mm =THAF
20:20mm B4 5%
30:30mm .
40'40mm N:7c
50'50mm Blank:Internal Thread
75:75mm B:External Thread
100:100mm N:NoThread
12 16 20 25 | 52 | 40 | s0 63 80 100
& 318/ Double Action
BB, 53] A/ Single action extrusion type, single action Drawingin Type =
=&/AIr
0.1=-0.9Mpa
0.2~0.9Mpa -
1.5Mpa(213psi})
-5-70°C

30~500mm/s
100~500mm/s
B % &/Antl-bump type

M5X0.8 G1/8

30~350mmi/s 30~250mm/s

G1/4 G2/8

s R <} 3/Dimension Sheet

12
16
20
25
32
40
50
63
80
100

BT

BE/ Typa

MEAE
Bore/Symbaol

_ WG
Standerd iype | Attachmegnet | p
c [ ale] ¢
22 5 17 32 5 27 -
24 55 185 34 G55 285 -
25 55 195 35 55 295 38
27 B 21 37 8 M 42
ais5 7 245 415 7 345 50
33 7 28 43 7 36 38.5
37 o 28 47 ¢ 38 715
41 9 32 51 & 42 845
52 11 41 62 M 51 104
83 12 91 73 12 61 124

-
L]
~ hothth b b b b b &

K1

M3X0.5
M3X0.5
M4Xx0.7
M5X0.8
M&X1
M8Xx1.25
M10X1.5
M10X1.5
M14X1.5
M18X1.5

10.2
1"
13
17
22
28
38
40
45
55

A+{T#E (Stroke)
B1_ C+fTHE (Stroke)

M, B =
’J }(J_/_LLLI:L\ |
3 5[)@ R
w
2l
M 20 [
Fl |6
B1_ C+{7#& (Siroke)
A+§T32 (Stroke)

28

7.5 ]
8 5.5
8 5.5
8.2 5.5
9 9
8.5 7.5
10.5 10.5
8.5 12 9.5 11
11.5 14.5 11.5 14.5
168 20.5 18 20.5

Bore/Symbol

12
16
20
25
32
40
50
63
80
100

M&X0.8
M5X0.8
M5X0.8
M5X0.8
PT1/8
PT1/8
PT1/4
PT1/4
PT3/8
PT3/8

Wih:28.5
Wih: 6.5
Wik £6.5
Wil: 5 8.2
Wih: 2 8.2
Wih: 210
Wik o 11
Wil o1
Wil 214
Wih: 217.6

F:M5X0.8
F: M5X0.8
5:M5X0.8
ZF: M6X1.0
F:M6X1.0
¥F:M8X1.25
F:M8X1.25
:M8X1.25

¥

B .z 4.2
BA 542
B2 4.2
WA @ 4.6
#HA: 246
Hi. 2 6.5
#ifl: 465
BEH: % 8.5

F:M12x1.75 lifl: » 9.2

F:Mm14x2

B2 11.3

12
12
14
15
16
20
25
25
25
30

4.6
4.5
4.5
6.5
6.5
7.5
8.5
8.5
10.5
13

25
29
a4
40
44
52
82

94
114

16.2
19.8
24
28
34
40
48
60
74
20

1.6 B 8 - -
1.6 5} 5 - -
21 8 8 11.3 10
3.1 10 8 12 10
216 12 10 183 15
226 18 14 213 16

415 20 17 30 20
315 20 17
3685 25 22 38 28
3.66 32 27 35 26

GEE'WWW.{:IT:B.HH I N N N N N ——————5— 026 :m.ptﬂﬂ.ﬁﬂi



SDAR JI @ B ST ("‘\ SDAR I FB S ( N
SDA SERIES THIN TYPE CYLINDER RNBET, NB....B.T SDA SERIES THIN TYPE CYLINDER RNBeT, NBﬁr

1S08001:2000 i 1S09001:2000 i

w51 &6 30 4%/ Outer Specification

w50 &R 348/ Outer Specification

o A+ﬁfﬁ (?tmke)> . A+{T#E (Stroke) x2
] s e 212~916 B1+{7#2 (Stroke) | P3 _ _A+{7%2 (Stroke)
P12~ (T1) M P3_ _&32 : s

o STA/STAS (#3135 A8/
Single Action drawingin Type)

® SSA/SSAS (Fa g i &/
Single Action Extrusion Type)

#20~003 #20~063

- LN‘L‘\Q

B1. C+732 Stroke)

~ A+17i2 (Stroke) | F 3 e) C+{722 (Stroke)
T CHmEGme

= R <} 3%/ Dimension Sheet

mmm 2~ 3%/Dimension Sheet

B/ Type fr £ 8/ Standard type ﬂﬁﬂy_/ Attach mag net B/ Type ﬁ)ﬁﬂ!ﬂ’ Standard typa mm&x Attach mag net

B % g/!éﬁ %'ul HE/ME

ore / ym Bore/ Symbol S35
S - - /e

12 32 42 5 27 37 4 M3X0.5 10.2 12 4 1 M3X0.5 10.2

16 34 44 55 285 385 44 54 55 385 485 - 6 4 1.5 M3X0.5 1" 28 8 16 34 44 55 285 385 44 54 55 385 485 - 6 4 1.5 M3X0.5 1 28 8
20 35 45 55 205 395 45 55 55 395 495 36 8 4 15 M4x0.7 13 2.8 9 20 35 45 55 295 395 45 55 55 395 495 38 8 4 15 M4x0.7 16 2.8 9
25 37 a7 6 31 41 47 57 6 41 51 42 10 4 2 M5X0.8 17 2.8 9.2 25 37 47 6 34 41 47 57 6 41 51 42 10 4 2 M5X0.8 17 28 9.2
32 415 515 7 345 445 515 615 7 445 545 50 12 4 3 M6X1 22 238 9 32 415 515 7 345 445 515 615 7 445 545 50 12 4 3 M6X1 22 28 9
40 43 53 7 3 46 53 63 7 46 56 585 12 4 3 M8X1.25 28 2.8 9.5 40 43 53 7 38 46 53 63 7 46 56 585 12 4 3 MB8X1.25 28 2.8 9.5
50 47 57 9 38 48 57 67 9 48 58 715 15 5 4 M10X1.5 38 28 10.5 50 47 57 9 38 48 57 67 9 48 58 715 15 5 4 M10X1.5 38 28 10.5

9 9 62 845 15 5 4 M10X1.5 9 9 84.5 5 4 M10X1.5

e, -—Eﬂﬂﬂ-ﬂﬂ- o

M5X0.8  %4/Double Side: 6.5 %/Cog:M5X0.8 i&F.Through Hole:4.2 16.2 23 T R e G TR TR AE =T
16 MsX0.8) I FUEARBURIE SRe:0 0., vireeu Mex) A R TL g oE 242 Gl S I S0 M RN I /N IS S 16 M5X0.8  Wifi/Double Side: 6.5 F/Cog:M5X0.8 WZThroughHole: @42 12 45 - 29 198 28 16 6 5 - -
20 M5X0.8  Wjii/Double Side: 6.5 %/Cog:M5X0.8 i&F.Through Hole: @4.2 14 45 2 34 24 - 24 8 6 1.3 10 2 e R e R R e O (e e e e
£D MaxOE) BERGItioNb e g eg MBXTD g Uh HEIE 0 0 10N Be-=) M2l 108 [§29 | S SO | 12h| §10 25 M5X0.8  Wii/Double Side:38.2 Z/Cog:M6X1.0 i#FLThrough Hole:®4.6 15 55 2 40 28 - 31 10 8 12 10
2 ETIS IO% KAt DI B 28, SRR o MO O IR RO QR DI 6 EE ) I |l R ) ) |7 [STON RS] S 32 PT1/8  i&/DoubleSide:#8.2 F/Cog:MEX1.0 i&ZLThroughHole:4.6 16 55 6 44 34 - 215 12 10 183 15
40 EILI/EY) EESGRBottis Sire R ION G Sop et 26 M ThoLoh Holeee:S 200 R REL R RN (NS i2e| OGN 1N |28 0 40 PT1/8  Wif/DoubleSide:310 3/Cog:M8X1.25 #flThroughHole:#65 20 7.5 6.5 52 40 - 225 16 14 213 16
50 PT1/4  %3&/DoubleSide: 311 %/Cog:M8X1.25 7L Through Hole: #6.5 25 85 95 62 48 - 415 20 17 30 20 = Y T T T T i e N B B P T (R I B
63 PT1/4  Wi&/Double Side: 11 F/Cog:M8X1.25 HFLThrough Hole: #6.5 25 85 95 75 60 - 315 20 17 28.7 20 :
63 PT1/4 W32/ Double Side: @11 F/Cog:M8X1.25 i&EFLThrough Hole: ©6.5 25 85 95 75 60 - 315 20 17 28.7 20

027 | www.ptce.net 028 www.ptce.net




SDARSI MBS
SDA SERIESTHIN TYPE CYLINDER

1IS09001:2000

s 5 #8 #1 #/ Outer Specification

e SDAD/SDADS
(W 54 & zh 8L/
Double-shaft Type)

mmm R <} 52/Dimension Sheet

&/ Type

offdo | A [er [ o | A e ] o]
12 27 5 17 37 27

16
20
25
32
40
50
63
a0
100

] I TR - E EY G E EA EA A K R

16.2 23
19.8 28

16
20
25
32
40
50
63
80
100

029 | www.pfce.net

#% M8/ Standard type

29.5
30.5
33
38.5
40
46
50
63
75

M5X0.8
M5X0.8
M5X0.8
M5X0.8
PT1/8
PT1/8
PT1/4
PT1/4
PT3/8
PT3/8

?12~916

@20~2100

5.5 18.5 395
5.5 19.5 405
6 21 43
7 24.5 48.5
7 28 50
9 28 56
9 32 60
" a1 73
12 51 85

M iZ/Double Side: 6.5
W i&i/Double Side: ¢ 6.5
Wifi/Double Side: ¢ 6.5
Wifi/Double Side: @ 8.2
i1/ Double Side: ¢ 8.2
i/ Double Side: 10
M4 /Double Side: @ 11
i /Double Side: @11
WiZi/Double Side: ¢ 14
WiZ/Double Side: ¢17.5

il 8 7/ Attach magnet

5.5 28.5
5.5 29.5
6 31
7 34.5
7 36
9 38
9 42
11 51
12 61

%/Cog:M5X0.8
F/Cog:M5X0.8
F/Cog:M5X0.8
TF/Cog:M6X1.0
F/Cog:MEX1.0
F/Cog:M8X1.25
ZF/Cog:M8X1.25
F/Cog:M8X1.25

- 6

£ 6

36 8(S=5816.5)
42  10(S=587)
50 8 12

58.5 8 12
71.5 8 15
84.5 10 15
104 13 20
124 18 20

#¥LThrough Hole:
&FLThrough Hole:
{HFl.Through Hole:
& F.Through Hole:
iE¥FLThrough Hole:
iEF Through Hole:
i FL.Through Hole:
B FLThrough Hole:

Z/Cog:M12X1.75 i#F.Through Hole:
F/Cog:M14X2  #FLThrough Hole:

~N o ook A DADAMDALA

®4.2
®4.2
®4.2
®4.6
®4.6
®6.5
®6.5
®6.5
$9.2
#11.3

ZEWE

‘ NBPT,

~/

NBPT

PHEUMATIC

A+{T#2 (Stroke) x2

JB1 +?TE(Stroke) B1+{T (Stroke)

Stroke)

-y

P4

7Eb/ 77_(_717_1\

P3| FHTHE

- =M
w
2T 1B

43

4 h.. S
il V|
W/
2m IR
|_F+{7 (Stroke)
B1 C+1ﬁ§ (Stroke) B1+ﬁ¥§(4troke)
A+{T32 (Stroke) x2

M6X1

12
14
15
16
20
25
25
25
30

4.5 -
45 2
55 2
55 6
7.5 6.5
85 95
85 95
10.56 10
13 10

M8X1.25
M10X1.5
M10X1.5
M14X1.5
M18X1.5

29
34
40
44
52
62
75
94
14

24
28
34
40
48
60
74
90

2.8

28

28
4
4

9.5
11.5

16

1.6

2.1

3.1
2.15
2.25
4.15
3.15
3.65
3.65

9.5
10.5

11.8
14.5
20.5

6
6
8

10
14
17
17
22
27

11.3
12
18.3
21.3
30
28.7
36
35

10
10
15
16
20
20
26
26

SDA% ¥ 7 & <L

SDA SERIES THINTYPE CYLINDER

1S08001:2000

s 5hEB #1#&/ Outer Specification

= SDA SSA STA

 NBPT
\-/

NBPT

PHEUMATIC

s J'
Sl e e fa ] el e (Ll

MN2~A6
B2(B2+§ 3 HTIE)
E(E+A‘ai;i!mrHﬂﬁi&)H 18 175 18
H . F_| | FF+EshithiTeE)
20 205 19
e d ]
25 23 21
i I ‘ 32 25 22
i) '*—'*<—T4‘# | 40 35 32
5; = 7 ‘?}% [‘ 50 3'5/ 33
I f L
/ 63 37 33
% w L/ 80 44 39
2wl || g
ol 100 50 45
— M
TNRIIWHF S
TN SERIES DOUBLE-SHAFT
iT Mi%3/Ordering Code
T‘N - 2‘0 - 5‘0 - I‘Q
RIRS ez T8 HWARS
TN:N4F E 3 Bore Stroke S:HE A
Series NO EEAHEA
TN:Double Action Magnet code

R T

{EWR/Acting Mode
I {E4r Bi/Working medium

EAE N3 @ Kofiem®
Pange of working pressure

RIEW & 71

Ensured Pressure Resistance

EREEEEC
Operating Temperature Range

1 FH 3% P 35 Bl(mm/s)
Operating Speed Range

#% i T #/Buffer sroke (mm)
%13 R/Buffer Type

ENCEE: 7
No-return precision

# % O/ Joint Size

0.4°

S:attach magnet

Blank : not attach

magnet

#3158/ Double Acting
=& /Air

1-9
13.5
-5~70°C

100-500
-10~0
A il 4% i/ Adjustable Buffer

0.3°

M5X0.8

PT1/8

N e o o A A A A A

1.5
1.5

o g A~ W W N

10
13
15
15
25
25
25
30

35

10
12
17
19
27
27
32
36

1"
1
13
13

M5X0.8

M5X0.8

M6X1.0
M8X1.25
M10X1.25
M14X1.5
M18X1.5
M18X1.5
M22X1.5
M26X1.5

10.2 2.8

11 28 6 5
13 28 8 6
17 28 10 8
22 28 12 10
28 28 16 14
38 28 20 17
40 2.8 20 17
45 4 25 22
55 4 32 27

030 www.ptce.net



Ca2RAME U (.-, NBPT
CQ2 SERIES THIN TYPE CYLINDER

1508001:2000

- p— .I' i
= LC )
,- b
|
,p
CcQ2B CQ2B-D cQ2B-J CQ2B-S CDQ2B CDQ2B-D CDQ2B-J CDQ2B-8

— = == v — = = A

caz - B - 12 10 - D - M

CQ2:SMCE S fr & TE &£/ Acting I 5 (FE %) .

CQ2:SMCType  gu Cylinder Bore Stroke D-W. 31/ double acting Cyﬁngeﬁidy {optional)
Basic model 3 Wah S-8 2 (B8 9 JE [B) 7T 54 bk A AL
B-iE7 Single acting Double acting S-single acting(with Moind|catlonsfemale
Withthroughbore ~ 12-@12mm’  12-g12mm  Spring return) ey onda
AT 1S i 16-¢ 16mm  16-% 16mm T2 ERER N7 i 51 88 50
With female 20-g20mm  20-@20mm T-single acting (with e r 8 o d
thread on both ends 25- 25mm 25-% 25mm spring extend) alethrea on\pISton ro +

B 3h ST S AT B R 4

32-32mm  32-@32mm
40-40mm  40-®40mm
50-¢50mm  50-®50mm

Single-acting cylrnder
must not beprovided with
rubber buffer

63-@63mm
80-@ 80mm
100-2100mm
mmm 3 #%/ Specification
W8/ Bore 12 18 20 28 32 40 ED B3 -1 100
T £ 4+ Bi/ Working Medium 2 S/AIr
F{EH A/ Action pattern M #h/Double-acting 51 35: 38 8 Ik [6/3% W F: {1/ Single acting:with spring return/with gpring extend
fRiE W E B
Ensured Pressure Reslstance 1.5Mpa
EREREAD
Maximum Working-Prassure 1.0Mpa
TR 40 35 06 3 A 5-B0°C
Amblent and Medlum Temperature
#T 4 MR &1/ Piston rod thread type F B & /Female thread Sh33 &/Male thread
£ 1/ Cushlon x/0
TES +0.1
4+ 35/ Tolarance of Stroke 0
##&/Lubricatlon ¥/ Not Reqyired
. WAL GRAE) P PSR AL (E 1R
#%&/Installation Through Hole {(Standard). Femals thread on both sides(Optional)

% O &/Port Size M5x9.8 18 114 3/8

031 |www.plce.net



VRS E W
3V SERIES SOLENOID VALVE

IS08001:2000

(.- NBPT

3V1aﬂ%w“ - f — EHEUMATIC

3V1 SERIES SOLENOID VALVE

3V 1

(. NBPT

e PHEUMATIC

(

10-NC 20 10-NO
06 AC110V - (] A A A
- MR I PR R )
RIS EEOE P R
1:100%%  JointPipe Bore Eﬁ?ﬁ, Voltage § }%%ﬁ:]:ﬁ PR PR =
- Seriass Code !'\JAGSPTE; 8 c12v TE ——
iz 100 Series 3 DC24V Wiring Form &
V. " =AW AC24V 50/60Hz  Blank:standard
Specification Code AC110V 50/60Hz I.Lead Wire Type »
3V:Two-position Three-way AC220V 50/60Hz i
Solenoid Valve AC380V 50/60Hz Pt g gy 0
. . iT B #3/Ordering Code
mmm 5 2 R <t/ Overall Dimension
62 A
Eﬁ F% 40 i 7] / A 3V 2 10 - 08 - O - AC220V
® |¢ 3k P S8,
= Lo - . ImAERE
{ § :5? = 20,736 ; ;88%%1 10?%111?5 Joint gpe Bore giﬁ%!ﬁ?i Standard Voltage
! - Idld 9 3:300%5] 20:WAMEE . DC12V
i ) Plip 4:400%%] Coiland Places 06 PT”B.. Wiring Form DC24v
5 S @ . 100 Series  10:Single-head  08:PT1/4 Blank standard AC24V 50/60Hz
i @{g o i 2008 : e 10:PT3/8" I:Lead Wire Type AC110V 50/60Hz
¥ 22 [~ M5:3-M5x0.8 et R eries  Double-position {5 pTY/3" AC220V 50/60Hz
06:3-PT1/8 ) N 08:105 3v: ﬁ i Eﬂm m 300 Series 20: Double-head ) AC380V 50/60Hz
f AR ' 15| 55 LEoE i Specification Code 400 Series  Double-position
30 - 3V:Two-position

5K/ Specification

&% Model
ﬁtﬁk’i;\gMadium
ﬂlﬂ%ﬁi

otion Pattern
ﬁﬁl%%e Bere
AR E
Ambient Temperature
kiR
Gag Temperatura
E%El%%iamtar
Lubrication
ﬁﬂ&ﬂ

orking-pressure
ngccﬁﬁ b))

LY |

Power Consumption
ﬁ##%
Protect Class
ﬁ.ﬁr?g %orm

ﬁ#aﬂgof Body
== e
HighestAction

i B 1t

Insulaion

\%Elga,g Range
BERREE

032 | www.ptoe.net

V-5

3409 ¥ il B¥ Y 98 T/ 40MIcron Fliterad Alr
H )&/ Diract Drive Type

-10~+80T
-5-80T
1.2mm
T E/Not Necessary
0~0.9MPa
1.2MPa
AC:3.6VA DC24V/12V:3W/2.5W
IP&5
H £ 3 3% 3% F ./ Lead Wire or Connector type
£ & &/Aluminum alloy
{8+ /10Cycle/Sec
B#%/FClass
+10%
0.05#/0.05 Second

178"

I1-D6

Three-way Solenoid Valve

mmm i 8%/ Specification

IV110-MB 110-08 AVain-08

IVI0-10 W410-15

B8 Model ‘

AV120-M5 I20-00 AvVazn-oa

VEX-10 V42015

0mm(CV=1.67) SOMMICV=2.79)

VIVoﬂrkngMadium 2401 3 i3 38 B 2 5/ 40Micron Flltered Alr
ﬁgﬁoﬁ%attern A #85% S 5/ Inner Guide Type

At Sipo Bore R A DRV R WOy ORI A6 VLY OO Af MRS Ot A6 HRE Ot B4 Ty OBt A& MY Ot 12
Eﬂ%&ﬁﬁacﬁon Area 5.5mm’(CV=0.31) 12mm*(CV=0.67) 14mm"(CV=0.78) 16mm*(CV=0.89) 25mm*{CV=1.39)
Wgﬁrlag-prassure 0.16~0.9Mpa

ﬁaﬁ@r&zsﬁm Resistance 1.2Mpa

%pfr?ﬂ%—Tempemwre -5~60C

\%iiia%eﬁRange —16%-10%

ﬁmng Form 1 €8 2 5% 4% -7 3/ Laad Wire or Connectar type
?mﬁhgl Class IP65 (DIN40050)

# ﬁchon Frequency W H5/ECycle/Ses

033 |www.ptce.net



VR ¥ 8 8 i

3V SERIES SOLENOID VALVE

1S08001:2000

s 52 R </ Overall Dimension

(.- NBPT

e MR LIBAAT I

AVR I EH R

4V SERIES SOLENOID VALVE

)
P_ &
&
T | —
o B .
T -
=1 w f T
o =
2-2T

.. mrl S

o F

3V110-M5 55 34 884 2
3V110-06 55 34 884 21
3v210-06 66.7 40 109 25
3v210-08 66.7 40 108 25
3V310-08 69.2 40 120 30
3V310-10 69.2 40 120 30
3v410-15 74.2 40 137 51

m Sh R T/ Owverall Dime nis o

27
27
36
35
40
40
50

25
162.8

69

668.7
‘ 4
3 [LIE
@V
=k
; o™ B
8 _ &, *—E'i
’{@ E 2042 ;jz
@ 1
< F% ~ T
@- o
IHIEIN
17 [T
22 35

3V120-M&

55 34 1314 21
3v120-08 55 34 1314 21
3V220-06 66.7 40 1628 25
3v220-08 667 40 1628 25
3V320-08 89.2 40 1748 30
3V320-10 69.2 40 1748 30
3va20-15 742 40 1905 &1

66.2
56.2
69
69
72.4
72.4
95

27
27
35
35
40
40
80

77
7.7
8.2
3.2
10.5
106
1.5

7.7
7.7
8.2
8.2
10.5
10.5
11.8

2.5
2.5

2.4
2.4

2.5
2.5

24
2.4

3-X

227
23.7
27.7
287
325
32,5
41.5

Jisicoim| =
b
o
é g
e
‘e
(&
peny
By
™~
e
fumicannn]

857
66.7
81.4
82.4
87.4
87.4
95

13.2
13.2
12.7
12.7
15.0
15.0
17.0

56.2
56.2
66.4
66.4
70.0
70.0
82

13
13
17
17
20
20
27

13
13
17
17
20
20
27

18
18
22
22
27
27
34

18
18
22
22
27
27
34

P
o
1
0

15
0
2

14.2
16.0
22.0
225
24.0
24.0
31.5

M5
1/8>
1/8"
1/4°
1/4°
3/g"
1z

4.7
14.7
16.7
6.7
20.5
20.5
25.5

18
16
22
225
24
24
3.5

33
3.3
3.2
3.2
4.3
4.3
4.3

57.7
57.7
70.2
70.2
75.4
75.4
79.5

a1
3.1
4.2
4.2
4.3
4.3
5.5

M5
118"
118"
1147
1147
38"
112"

(-, NBPT

10 20 -~
A AR e &
RPS RPS
30C 30E 30P
A B A B
Ml 1A BN TA BTN AR
RF S P S RP S
T B3 %#8/Ordering Code
4V 2 10 - 08 - AC220V O
RIS BEOE _
1:1008 %] Joint I§ipe Bore InEBE % i&%
2 - 2001 M5:M5 Standard Voltage ; mFR
. 06:PT1/8° DC12V L =
3 : 300% 71 08:PT1/4" DC24V Wiring Form
4140055 ERELE AT 10:PT3/8" AC24V 50/60Hz Blank:standard
Series Code 10:# 8 15:PT1/2" AC110V 50/60Hz I:Lead Wire Type
100 Series 20: W HE _ AC220V 50/60Hz
200 Series 30C:WMEE= ni'#*igﬁﬁﬁ‘i AC380V 50/80Hz
300 Series S0E:WHAFE=fRPRIFSE
400 Series 30P:NBAE=fFPRENE
M o Sl aad Double-posit
i :Single-head Double-position
AVZ(DERELHE  20'Double-head Double position
Specification Cods 30C:Double-head Three-position Close T pe
4V:Two(Three)-position 30E:Double-head Three-position Exhausy pe
Five-way Solencid Valve  30P:Double-head Three-position Pressure Type
w3 ##/ Specification
‘ AV110-M5 AV110-08 AVZ10-06 AVZ10-08 AV310-08 &V310-10 AVA10-15
W2 Model
AV110-M5 AV110-08 AV210-08 AV210-08 4V310-08 &V310-10 AVA10-15
vIngu?r.‘g' Medium 400 % 7t 3E §4 25 5/ 40Micron Fitered Air
ﬁéﬁg{,ﬁmm P35/ Inner Guide Type
#5=M5 HE==1/4 e=1/4 #5=3/8 HE&=1/2
AirInlet=M5 Air Inlet=1/4 Air Inlet=1/4 Air Inlet=3/8 Air Inlat=1/2
BEDE i S=M5 BES=H S=H 5118 H&5=1/4 Y= /4 Y&=3/8 H==1/2
Joint Pipe Bore Air Qutlet=M5 Air Inlet=Air Cutlet=Exhaust=1/8 Air Outlet=1/4 Air Qutlet=1/4 Air Qutlet=3/8 Air Qutlet=1/2
H#=M5 #=-1/8 HiS=1/4 HiS=1/4 HS=112
Exhaust=M5 Exhaust=1/8 Exhaust=1/4 Exhaust=1/4 Exhaust=1/2
E%%E%E ctionArea 3-SMMICV=0.31) 12mm'(CV=0.67) 14mm'(CV=0.78) 16mm*(CV=0.89) 25mm’(CV=1.38} 30mmY{CV=167) S50mmi(CV=2.79)
ﬁﬁ&!?—pmssum 0.15~0.9Mpa
Ha;zym%&rem 1.2Mpa
gpfrﬁiﬁgg#emperature -5~60C
\%%a;gangs -15%-10%
ﬁiﬁnjgﬁ)rm Hi 43 2 5t $ T/ Lead Wire or Connector type
O s IP6S(DIN400S0}
Eigﬁsiglﬁn*quuancy £ 5)U5Cycle/Sec
E‘h@st Wlﬁlhtionﬁma 0.05%/0.05 Second

035 | www.plce.netl

034 | www.plce.net



4V 7 51 =8 i
4V SERIES SOLENOID VALVE

1S09001:2000 [

=== ==

mmm 4%/ Specification

NBPT

- P ) 0 O I T ) ) S ) 5 ) [

4V110 M5 99.4 21.2 21.2

4V110-06 55 34 994 14 212 27 95 202 30
4v210-08 668.7 40 117 20 217 35 105 227 38
4v210-08 66.7 40 117 20 217 35 105 212 38
4V310-08 69.2 40 135 24 28 40 135 29 50
4V310-10 69.2 40 135 24 28 40 135 28 50
4v410-15 742 40 168.4 28 43 50 175 39 72

16
18
21
22
24
38

13.2
13.2
12.7
12.7
15
15
21

13
17
17
20
20
27

18
22
22
27
27
34

28.2
28.2
317
31.7
40
40
57

28
36
36
45
45
83

14.7
14.2
13.7
13.7
17.5
17.5
25.5

3.3
3.2
3.2
4.3
4.3
4.3

3.3 1/8" 1/8"
43 1/8" 1/8"
4.3 1/8° 1/8°
4.3 1/4° 114"
4.3 1/4" 3/8"
55 1/ 1/2"

ﬂ-ﬂﬂﬂﬂ---ﬂﬂﬂﬂ-

4V120-M5 55 142.4 64.2 64.3

4V120-08 55 34 1424 14 642 27 95 632 30
4V220-06 667 40 117 20 754 35 105 764 38
4V220-08 667 40 117 20 754 35 105 749 38
4V320-08 692 40 180 24 829 40 135 839 50
4V320-10 69.2 40 190 24 829 40 135 829 50
4V420-15 742 40 2228 28 97.4 50 175 934 72

16
18
21
22
24
36

56.2
56.2
66.4
66.4
69.9
69.9
75.4

13
17
17
20
20
27

18
22
22
27
27
34

71.2
71.2
85.4
85.4
94.9
94.9
111.4

28
36
36
45
45
63

57.2
57.2
67.4
67.4
72.4
72.4
80

3.3
3.2
3.2
4.3
43
4.3

3.3 1/8° @
4.3 1/8° 1/8°
4.3 1/8" 1/4"
4.3 1/4" 1/4"
43 1/4" 3/8°
55 1/27 120

AVRI R A(Z M ESPREHR)

4V SERIES SOLENOID VALVE

THREE-POSITION FIVE-WAY CLOSE TYPE

NBPT

——— PHEUMATIC

=

1S0O8001:2000 |

mmm i 4%/ Specification

&2 Model 4U13&E—M5 4V130E-08 wzanl;—ne- 4U230E-Da sva:ms.a.a 4V330E- m 4“3,95 15
]
NHOG-MS 4V130C-08 4V230C-06 4V230C-08 4V330C-08 4V3aoc- 1-3 -twsnc-w
VI\Ing ngMedmm €401 K I 3 A 2= T/ 40Micron Flitered Air
RMIEH R
Mo;ﬁlg:rﬂ Pattern A #8 5t 2 &/Inner Guide Type
i#S=M5 BES=1/4 #S=1/4 #E5=3/8 B S=1/2
Air Inlet=M5 Air Inlet=1/4 AirInlet=1/4 Air Inlet=3/8 Air Inlet=1/2
EgoE } 44=M5 i 4=t &=t &11/8 theT=1/4 1 4=1/4 th4=3/8 hex=1/2
oint Pipe Bore Air Qutlet=M5 Air Inlet=Air Outlet=Exhaust=1/8 Air Qutlet=1/4 Air Qutlet=1/4 Air Qutlet=3/8 Air Qutlet=1/2

#1=M5
Exhaust=M5
Eﬂ%ﬁﬁl\g gsctlon Area LR
ERED
Working-pressure
B AR E 7 )
Max.Pressure Resistance
I B
Operating-Temperature
L 78
Voltage Range

ﬁﬁﬁﬂ:
Iring Form

» *
nghestAc?bn Frequency

U184
MECHANICAL VALVE

iT M3 #3/Ordering Code

amm*(CV=0.50)

H==1/8 He=x=1/4 Hes=1/4 His=1/2
Exhaust=1/8 Exhaust=1/4 Exhaust=1/4 Exhaust=1/2

12mm*(CV=0.67) 18mm*(CV=1.0) 30mm*(CV=1.67)
0.15~0.9Mpa
1.2Mpa
-5~60T
-15%-10%
H £% 3%, 2% 88 F ./ Lead Wire or Connectoer type
|P65/(DIN40050)

8 $3¥/3Cycle/Sec

M32 - 1

.’;go?:t% e Bore

3 i i

{3%&%% B 1: G1 8'p
D]

Position and Way Number

32: Two-position Three-way

52: Two-position Five-way

mmm # #%/ Specification

& Model

fEST R
Working Medium

A

&

3./Button Type

Z&&/Blank: Basic Type
#l/Roller Type

Bl i 48/ Selective Knob

&l [jE 1/ Strengthened Knob
Blin41/Large Round Button

& &l A/Plat Round Button
ﬂﬂEiﬂ/Convex Round Button
BU {8 $0/With lock Button

P 1}
I el
#m

S
ol oA PR

muuor -
TTUDPD
I_
e
o B

#:;
=

T A S R N

#2400 0 3T 38 B %2 %/ 40Micron Filtered Air

mPcJ!:siﬁgi and Way Number —{r =ifi/ Two-position Three-way Z{ § i/ Two-position Five-way —{ = i/ Two—position Three-way
AR Range 0~0.8MPa 0~0.8MPa 0~0.8MPa

¥ -]

Temperature Range 0~60C

Eﬂ%&ﬁ g‘e ction Area 12mm*(CV=0.67)

ﬁﬁt%%e Bore

PT1/8"

16mm’(CV=0.89) 16mm°(CV=0.89)

PT1/4* PT1/4”

036 | www.ptce.net

037 | www.ptce.net



AVRAIIE#IR = il RENT)
4V SERIES SOLENOID VALVE
THREE-POSITION FIVE-WAY PRESSURE TYPE

IS09001:2000

AMART| R
4M SERIES SOLENOID VALVE

1S08001:2000

(-, NBET

mmm i #%/ Specification

F | N ;
S Model &1 30P-M5 4V130P-08 AY230°-06 4VZ30P-08 4V330P-08 4V330P-10 AV430P-15 A I:O A :O l =0 1I "
VIv;EI&EMedium BA0%% He 1 kY 22 S/ 40Micron Filtared Air Aﬁlm@ EE‘X]EZIXI ~
i

ﬁcftﬁigligattrn A4 A/ Inner Guide Type RPS RPS g @ ®

HES=M5 HS=1/4 #S5=1/4 i#5-=3/8 #H5=1/2 -

Air Inlet=M5 AirInlet=1/4 Air Inlet=1/4 Air Inlet=3/8 AirInlet=1/2
rEOZ i S=M5 =M S=HS1/8 =174 H&8=1/4 Hi&5=3/8 i &=1/2
Joint Pipe Bore Air OQutlet=M5 Air Inlet=Air Outlet=Exhaust=1/8 Air Qutlet=1/4 Air Qutlet=1/4 Air Outlet=3/8 Air Qutlat=1/2

H5=1/8 HS=114 HS=1/4 He=1/2
Exhaust=1/8 Exhaust=1/4 Exhaust=1/4 Exhaust=1/2

12mm*{CV=0.67) 18mm*{CV=1.0) 30mm*(CV=1.67)

#5=M5
Exhaust=M5

E%&E%‘ecuon Area SMMACV=0.28)  SmmHCV=0.50)

ﬁﬂ&lg pressura 0.15-0.9Mpa . |
Hax F‘ressureRamstmoa 1.2Mpa i
Og:lﬁrallsg-Tempamture -9~60°C

\%\%aemRange —15%-10%

%i%?r?g%:rm H % = 3¢ % T 5./ Lead Wire or Connector type _—
%M IP85/(DIN400E0)

#giﬁm%ﬁaquamy 5 #3R/3Cycle/Sec

2 R T/ Owverall Dinnie nis o

4M 2 10 - 08 - ] - AC220V
[0 AIKS gg‘u & ‘ ‘
1:1005% %] Jomt Pipe Bore %%@ﬁ?i e
2:2008% KRERHN M5 g‘tg;'gg'd Voltage
i 3:300%% 10:BLWEE 06 PT1IB: Wiring Form Baaay
4:4008%7 20:WARME  9SETHA Blank:standard AG24V 50/60Hz
SeriesCode  Coil andPlaces {3133 eadire Type AC110V 50/60Hz
20T - L efies  {0:Single-head ’ AC220V 50/60Hz
¥ | AM: — o H 5 B 5 200 Series  poyble-position AC380V 50/60Hz
9.X Specification Code 300 Series 20:Double-head
K& / 4M:Two-position 400 Series :Double-hea
S ; ; Double-position
= i i Five-way Solenoid Valve P
- i — % L S50 T ﬁi@;{ Eas
i o d
& o {g__
=) il
4 —f-%ﬁ'{v mmm ] #4/ Specification

85 Modol

|4M110-M5|4M120-M5| 44110-08 | 4M120-08| 4M210-08| 4M220-08 | 4M210-08| 4M220-08 | 4M310-08 | 4M320-08| 4M310-10| 4M320-10
Eaoi & 1 58 i 7= 5/ 40Micron Filtered Air

h

T E
Working Medium

B LELMLE‘J . B SEwl ﬁtﬁg\%attarn AR 55 & &/ Inner Guide Type
s} F Vi EEOE HS=HS=M5 HS=HS=1/8 HEE=HS=1/8 BE=1AHS=18  HES=HS=1/4 #5=3/8 HS=1/4
— — Joint Pipe Bore Air Inlett=Exhaust=M5 Air Inlett=Exhaust=1/8 Alr Inlett=Exhaust=1/8 AirInlett=1/4 Exhaust=1/8 Air Inlatt=Exhaust=1/4 AirInlet=3/8 Exhaust=1/4
E%&Egec"on Area 5mm*(CV=0.31) 12mm*(CV=0.87) 14mm*(CV=0.78) 18mm*(CV=0.89) 25mm*(CV=1.4) 30mm*{Cv=1.88)
REhR i~

%orking-pressure 0.15-0.8Mpa
A NE A 1.2Mps

4V130-M5 55 34 1574 14 642 27 95 643 30 14 562 13 18 712 27 577 33 33 M5 M5 Mex Pressure Resistance

4v130-06 55 34 1574 14 642 27 95 632 30 16 562 13 18 71.2 28 572 33 33 1/8" 1/8 %,Ei%_-rampemmm -5~80C

N . " BETE

4v230-06 667 40 180 20 754 35 105 764 38 18 @64 17 22 854 36 674 3.2 43 /8" 18 VoltagéERBnga —15%-10%

4v230-08 667 40 190 20 754 35 105 749 38 21 664 17 22 854 36 674 3.2 43 1/8 14 ﬁ.ﬁr@ﬁ .- Hi R R F 2/ Lead Wire or Cannector type

4v330-08 60.2 40 209 24 829 40 135 B39 50 22 699 20 27 95 45 724 43 43 14 14 BRER IPES/(DINACOS0)

4v330-10 682 40 208 24 820 40 135 829 S50 24 699 20 27 95 45 724 43 43 14" 38" i e
R & e 5 #4K/4 Cycle/Sec

4v430-15 742 4D 2438 28 974 50 17.5 934 72 3B 754 27 34 1114 63 789 43 55 12" 1r HighestAction Frequency

038 | www.plca.nat 038 | www.ptca,nat




AMFR I A ‘NBPT. NBPT AR ER ‘HBPT NBPT
4M SERIES SOLENOID VALVE = 3A SERIES PNEUMATIC CONTROL VALVE . T

ISO8001:2000 1S08001:2000 |

mmm 5 R </ Overall Dimension

F 3A-10-NC 3A-10-NO 3A-20
A A A
[LILIT ~ \ ,4>\ C
JURL2IR] RIE IR TlT\ ~ T T A TlT 3
_____________ P R P R P R =
,@B
w
A R %%
o ru!sugMMBH “‘T:Lf_
= E 2-%H
3
e oo | -
e o - z
W AV iT Ma%8/Ordering Code
& - Y s
) - 3 = .
= 2-219.2X1.7R =T 3A 1 - 10 - 06 - NO
K T ‘
L =
RIRKS
1:100%7% & EIE
: 2:200%7% B i i{nosl_MI;lpe Bore
3:300%7 MM Mo:MS o R
e 4 4008 %] Zo:ﬂ%ﬂlﬁti 08:PT1/4" No:¥F &
‘ Series Code : 10:-PT3/8" Blank:Normal Close
: 100 Series Coil and Places 15-PT1/2" NO:Normal Open
O 200 Series 10:Single-head :
‘ 300 Series Double-position
2.A 2-919.2X1.7% 400 Series 20:Double-head
A E ] Double-position
E 2-¢H A =Sl
K] ﬁ)@;j i Specification Code
m |5 o - = O 3A:Two-position Three-way
[ 63@_ Pnesumatic Control Valve
H®
fa) ! :
Q - N7  — ﬂ#ﬁfﬁﬁeciﬂcatlon 1
= S
i T o H% Mogel | 3A110-M85 | 3A120-M5| 3A1 3A120-08 | 3A210-06 | 3A220-06 | 3A210-06 | 3A220-08 | 3A310-08 | 3A320-08 | JA310-10 | 3A320-10
Ilf VI\I"gﬁ??r.'\g'Medium £340 3 18 3 &9 22 S/ 40Micron Filtered Air
A tiern #4281/ Outside Control
?ﬁﬂﬁ HS=tH q=M5 HH=H4=1/8 HER=H49=1/3 HES=H =174 =il q=1/4 i S=th =3/8
oint Pipe Bore Air Inlett=Air Quilet=M5 Air Inlett=Air Outlet=1/8 Air Inlett=Air Qutlet=1/8 Air Inlett=Air Qutlet=1/4 Air Inlett=Air OQutiet=1/4 Air Inlett=Air Outlet=3/8
i BRREE o Aea 5 SMMI(CV=0.31) 12mm*(CV=0.67) 14mm*{CV=0.78) 16mm{CV=0.89) 25mmY(CV=1.4) 20mm}(CV=1.68)
4M110-06 G1/8 30 152 302 G1/8 550 1034 33 16 272 21 27 - 18 - - - - = ﬁﬁ&%{pm,um 0.15~0.8Mpa
AM120-08 G1/8 30 58.2 732 G1/8 550 1464 33 16 850 21 27 - 16 - - - - - RAWED 1.2Mpa
4M210-08 G1/8 36 137 317 G1/4 885 119.0 43 20 217 28 35 202 23 624 1 22 THRRE 5~60C
Operating-Temperature
4M220-08 G1/8 36 67.0 85.0 G1/4 665 176.0 43 20 750 29 35 735 23 624 1 22 #igﬁs?l%mequemy S BSRIBCyclarse

4M320-10 G1/4 45 720 945 G3/8 69.0 1850 52 24 837 32 40 825 22 80.2
4M410-15 G1/2 63 225 520 G1/2 750 166.0 55 32 380 42 50 355 3r 110

4
4
4M310-10 G1/4 45 17.0 395 G3/8 69.0 138.0 52 24 275 32 40 290 22 802 4
4
4
4AM420-15 G1/2 63 77.0 1125 G1/2 75.0 2250 65 32 945 42 50 0820 37 112 4

oy L Ey L
=
=
N
~

040 | www.ptca.nat 041 | www.ptce.net



AART A (. NBPT R . NBPT
4A SERIES PNEUMATIC CONTROL VALVE — T HAND-PULL VALVE TS

D,

@

1S08001:2000 1508001:2000

iT W #8/Ordering Code

10 20 30C 4H 2 - 10 - 06 - L
A B A B A B ‘ ‘ ‘ ‘
o N AAE A .
T /'r T T Wi\l t /1w F b i wEnE gy
R 10: Joint P Bi =
RPS RPS RPS F3002 R Fed | ePTIE L gﬂgﬁiimiﬁt’“iﬂ
4:400% Number of Places 08:PT1/4" —REE. CEEEERERT
g&r)li zl(‘:ga 10:Single-head 12;;%’5" Ty.';a Code
A30E B A30P 300 Series ?gfg’;ﬁﬁg_sﬂg:z : Blank:Two-poslition Flve-way Locking Type
400 Series Th'ree-ponltlon L:Thrae-poslitlon Flve-way Locking Type
. \ / IR \ \/ / Lt - ﬁiﬁﬁtﬁ)ﬁiﬁ 'S=:Two-po§,ition Fli:e-wa_I!'.Threa-posilion
=(= A ; X
VAT R ; 3 T v VAT EP él' T MY Spaecification Code e-way Spring Roset Type

4H: Two-(Three)-

o Two(Three). N A N

mm # 4%/ Specification

2 Mode! 4H210-08 4H210-08 | 4H310-08 | 4H310-10
iT M1 88/Ordering Code

ﬁﬁﬂ?mdium S40% 3 ol #8 B 22 % /40Micron Filtered Air
ﬁgﬁﬁﬁmem M 3R/ Direct Drive Type
4A 1 - 10 - 06 BRBER o area 14(Cv=0.78) 16(Cv=0.89) 25(Cv=1.38) 30(Cv=1.67)
BEOE - A TR 1 B R PO ua- i A L TR L BTl E T aaﬁ-m-
Joint Pipe Bore AlrInIeI=A|r_0ulla_t= Air Inlet=Air Qutlet==1/ AirInlet=Air Qutiet= ot Air Inlet=Air Qutiet== =
Exhaust=1/8 Exhaust=1/8" Exhaust=1/4 Exhaust=1/4
RIS AEA " .
; ; 88?%} ﬁfﬁgfﬁe Bore ﬁorklng —pressure 0~0.8BMPa{0~114Psl)
3'300% 31 1. PR | 068:PT1/8" gggf;t'"ﬂ Hemperature -6~60T
A:400% B 10: 83 W6 & 08:PT1/4"
Series Code 20 MWW 10:PT3/8"
;gg geries Coil and Places 15:PT1/2
eries 10:Single-head
288 gg”gz Double-position *‘ ﬂ ﬂ
20:Double-head
ﬂ‘jﬁ_ﬁﬂ s Double-position HAND-DRAW VALVE
AN_NHEESER

Specification Code
4A:Two-position Five-way

Pneumatic Control Valve T i8/Ordering Code

4R 2 - 10 - 06

I #7 4%./ S ci i ca i o 1 | | \

Number of Pllces

eI
I : . ?srfes gode : %@&e ﬁaﬁlﬁﬁe Bore
5% Modal |4A110-08 |4A120-08 A130C-08| 4A210-08 | 4A220-08 $A230C-08 4A310-10 | 4A320-10 ($AII0C-10{ 4A410-15 | 4A420-15 KA4I0C-1 10087} Series T

DOA 7/ Series 10:Single-head 08:PT1/4"
VI\fg‘r;kﬁgMedlum SLA08RE ¥ 1t 3B 0 ¥55 / 40Micron Filtered Alr ﬂ‘mg&iﬁ;ﬂ:::DEEISanes Double-position 16.PT3/a"
ﬁgﬁg%ﬂ — $h#84& 51/ Outside Control gﬁaﬁ%&tiﬁ%od?
O == S=H=1/8 ==t ==1/4 HS=1/8 ==t ==3/3 HS=1/4 B S S=HS 12 4R: Two-pasilion Five-way
Joint Pipe Bore Air Inlet=Air Outlet= Exhaust—1iﬂ Air Inlet=Air Outlet=1/4 Exhaust=1/8 Air Inlet=Air Outlet=3/8 Exhaust=1/4 Air Inlet=Air Outlet=Exhaust=1/2 Hand-draw Valve
EHBER ronarea 12nmACV=0ET) I 16mmi(cv=0.89) (Culoey  mmACV=1T)  JUTTE SommiCY=2.79) 33"‘1’“525) AR Twoposilion Thres-way
HEA 0.15~0.8M
L .15~0.8Mpa I
Notligsressure mmm # ¥/ Specification
BARE D 1.2Mpa
Max Pressire Resistance
THERE _5~80T 18§ Model | 4R110-08 4R210-08 4R210-08 JR210-08 AR210-08 4R310-08 4R310-10 AR30-08 ARMNO-10
Operating-Temperatura rry—
R quency BWSWsCycleisec ZBR  mpopiscyciersec ,FBIX  mmwamiucycleisec 8B/ 3Cycle/Sec Warkh Medium £40M ¥ 138 49 22 &1/ 40Micron Filtered Air
gﬁfﬁ‘gg‘ewon Area 10MMA(CV=0.56) 14mm(CV=D.78) 16mm(CV=0.89) 14mm (CV=0.78) 16mm(CV=D88) 25mm(CV=14) 30Mmi(CV=168) 25mm{CV=14) 30mm(CV=1.68)
e T ERORY s wetaas sewegs BRUTAS pesens gouans
& S Alr Inlet=Alr Ontiet Afrinlet=AIrQutiet
Joint Pipe Bore ArrInlet=Air Outlet= 14 Alrlnlat-—AerUIld AIlthAIFQIHH AJrInld-ArOulht =63 ArlthAIrQlﬂd Alrlrlel-Aerulht
Exhaust=1/8" Exhaust=1/8" =Exhaust=1/8" =Exhaust=1/4" =Exhaust=1/4" Exhaust=1/4" =Exhaust=1/4" =Exhaust=3/8"
i)
%;m;'klng -pressure 0~0.8MPa
gparatmg 1F1mparature -5~60C
Range
- _ e P =fi= —fEH ==
mmdwy Number =5 i/ Two-position Five-way Two—pti;.;ition Three-way Two—ptigilion Five-way wag—ptigition Three-way

042 | www,ptca, net

043 | www.ptce.net



FHA

HAND-SWITCHING VALVE

T B933/Ordering Code

HV 400 -

gpg st oe
5N

Specification Code
Hand-Switching Valve

e Model | Hva00-02

Working Mediur
ﬁﬁt%% Bore
Eﬁ%&\z %‘ectlon Area

174"

m%g%re Range

gﬂi = T
perating-Temperature
Range

a4
Position and Way
Number

% N
FOOT VALVE

il B ¥%/Ordering Code

02 - B

Jof:tPi e Bore EHEER
02:PT1/4"° B:iRER
03:PT3/8° Bl
04:PT1/2° B:Plate

_.,i--l L

BES0E EE’ F/Joint Pipe Type : ‘
R “
an

k:Pige Connegction Type
onnection Type

HV400-03 HV400-04 K34R,-LE K34R,-L8

#2401 3K 1 3 &9 22 5./ 40Micron Filtersd Air

arg 1/2° 178" 114" /t— -
\‘——_—
30mm?{CV=1.68) 18mm{CV=1.00) ==
0~0.8MPa . -
0~60T - e

= i i = 1
Two-position Four-Way/ Three-positlon Four-Way

4F 2 - 10 - 8 L
IS for E W BOfS ,ﬁ‘ =
Series Code Number of Places Joint PI‘PS Code % E[% B
2:200% %) 10: B8 L WA B 08:PT1/47 Lpmsm sl
RERB 2:200Series 10:Single-head GHER
Sptat:i‘}‘:i{;m;il%r?m Cédm? Double-position -II-G;e é’% (I]ie e
4F: = ff hj -
4F.Two-position Five-way E.a?tlf"f;ﬂﬂdard type
Foot Valve G:with cover
LG:with lock and cover
B & Modai | 4F210-08 4F210-08L 4F210-08G 4F210-08LG Fv420 Fvazo
HoromMedium 408 3 It 78 b ¥2 5/ 40Micron Filtered Air
fir & - —f=
Eﬁ:ﬁéﬂ and Way ={i 7 &/ Two-position Five-Way Two-poﬁt%nilgur-Way Two-pos_ihignﬁee-Way
?ﬁ HfE M= == /aT s e=1/4 HE=1/8"
oint Pipe Bore AirInlet=Air Qutlst=Exhaust=1/4" Airinlet=AirQutlet="1/4" Exhaust=1/8"
Bﬂdjgﬁsﬂ}\i&aﬂem H 3 #/Direct Driva Type
ﬁcﬁqmm Range 0-0.8MPa
gp%rﬁﬁg’ﬁ?mpemlum 0~607C
Range

044 | www.ptce. net

EUMATIC




HOW TO CHOOSE THE SEALING & BODY MATERIAL

~

1S08001:2000

v :Suitable

W § acetone
Z % acetylens
Z & ethanol
& mathanol
@l wine
ifi¥R alcohol
25 air
XS natural gas
S5 oxygen
& 45 hydrogen
# 5 nitrogen
W& S towngas
I #% industrial gas
HEA purify oil
& i#7k water
7k#FS vapor
R Bk drinking water
@7k sea-water
Tk g7k waste water
;5 # gasoline
# kerosene
g5 diesel fuel
£ milk
& ammonia
HZE toluene
ZHE xylens
W% propane
% methane
=&k sulfur dioxide
S5 sodalye <20%
4B nitricacid  <10%
WEE vitriol <20%
tE# hydrochloricacid <10%
B acetic acid

045 | www.ptce.nat

X :Unsuitable Blank:Unknown

Seal material Body material

EPDM PTFE Viton SUS304 SUS316 Brass Castiron Plastic
X 4 X v v v v
v X J J J J J v
J x J J N J y N
v v v X v v v v
v X v v v v ¥ V v
V X J J J v v
v v v v v + v v w/
J J J J J J J J
J v y J J y J J J
J J y J J y
N J J J J
y J J y J
J J J J N
X 4 J J J J J
J v y J J y J v J
x N J J J J N J
4 J J J J ¥ 4
J J y J J y J J
J J J J
X R J J N J J
J X y J J y J J J
J x J J J J J J J
y J N J J N J J +
x y
x J J J J N J
x N J J N J J
X J J J J J J
J x J J J J N J
y J J y J J
J X J J J J
J J J J
v v
+
v X 4 v v J v v

(-, NBPT

2WRI R
2w SOLENOID VALVE

1S09001;2000

iT M #8/Ordering Code

® 2W (UD) BRI " iEE TR REA (O

2W (UD) Series Two-position Two-way Direct Drive Type Solenoid Valve

2W 025 - 08 - AC110V
EERALE EEOE FERE
Aperture of Flow Rate Jomt Plpe Bore Standard Voltage
012:1.2mm 06:1 DC12V
020:2mm 08: 1!4 DC24V
: 10:3/8 AC24V 50/60Hz
1545 42 B ggg;iﬁmm AC110V 50/60Hz
Specification Code ~4mm ﬁ8§§3¥ gg}‘ggﬂi
2W i E AR E-E

i
PWH: i - Em#m-EEN(EER
25 ABERA-MN_ER#E-HERX
25H:FH|F_MN_BEHE-EEX@E@ER
2W : Tow-position Two-way Solenoid valve-Direct Drive Type
2WH: Tow-position Two-way Solenoid valve-Direct Drive
Type(High-pressure Type)
28:5tainless Steel Two-position Two-way Solenoid
Valve-Direct Drive Type
25H:Stainless Steel Two-position Two-way Solenoid
Valve-Direct Drive Type(High-pressure Type)

= /1§ ¥/ Specification

]
Working Medium

3:535,&5“”“ H ./ Diract Drive Type
B R /Type 2 fA®/Normal Close Type
KERAE
Aperture of Flow Rate 25 “ 2 2
CV{li/CV Value 0.23 0.08 0.05 0.15
BRRO&®
Joint pipe Bore 1/8 1/4 3/8 1/8 1/4
{ERR R y
e 20 CSTEL T (Below)
ﬁﬁﬁ;’_nﬁ?{‘sm e, K. . EHVAIR Water, Oil. gas:0~0.7 5. k. WAL Water. Oil:0~2. 0
BRAWEAD Mpa 1.0 3.5
Max Pressure-Resistance ' '
IHERC _E~80
Operating Temperature
ERARERE
Voltage Range 110%
HEE R b ;
Material of Body 2W: i Brass 25784 Stainless Steel
B H R
Material of Oil Seal NBR=ZVITON/NBR or VITON
i B8/ Mode! A B c D
2W025-08 66 30.3 75.0 40.5
G o< 2W025-08 66 30.3 75.0 40.5
o 2W025-10 74 322 855 525
T 2WH012-06 66 30.3 75.0 40.5
’;\ fﬁ 2WH012-08 66 30.3 75.0 405
' E 2WH020-10 74 32.2 86.5 52.5
D B MK

25040-10

(.. NBPT

e FHEUMATIC

~

E

HmERE
B H:NBR
E: EPDM(#%FH)

V:VITO
(mE. Eﬂmiﬁﬁi)
oil Seal Code
Blank:NBR
E:EPDM(For Steam)
V:VITON

(For High-temperature.
gas and vacuum)

_21.1..'u25-08-m:'ﬁ‘
4800159 8Mpa ]

ot i e s o
e Model
2szss

!1 #. #. EEE/Air. Water. DIl. gas

178
174
38
3/8
172
3/4

045 | www.ptca.nst



2W(UW) (XO8) RI_M S HHAHHNA

TWOWAY DIRECT DRIVE

TWO-POSITI
E SOLENOID VALVE

1S08001;2000

iT #5/Ordering Code

2W 160 - 15 - AC110V Vv —
‘ | ‘ IW200-20,--
AL
HELE EEOE I BE
Aperture of Flow Rate Joint Pipe Bore Standard Voltage
012:1.2mm 10:3/8 DC12V
160: 16mm 15:1/2 DC24V50Hz/60HZ
200 20mm 20:3/4 AC110V 50/60Hz
250+ 25mm 25:1 AC220V 50/60Hz
: 35:1/4 AC380V 50/60Hz = r
350:35mm 40:1/2 s A > £
400:40mm ‘2 AP
MERE 500: 50mm 50 Eﬁfﬁﬁn ,...Fé’::‘*"-l-
Specification Code E-EPDM
W —EaEA-EER V:VITON (532 )
28 : AEWM_{N-EmEE-TiER oiiSeaI Code
2W : Tow-position Two-way Blank:NBR
Solenoid valve-Direct Drive Type E:EPDM
28:Stainless Steel Two-position V:VITON
Two-way Solenoid Valve-Direct Drive Type {For-Hihg-temperature}
mmm 1 &/ Specification
= ZW1B0-10 2W1B0-18 2W200-20 2W250-26 2W350-25 2WA00-40 2WB00-50
&% Model
25160-10 25160-15 25200-20 25250-28 23350-25 28540040 22500-50
VIVgEﬁEMedlum &, &. #/Air, Water, Oil
ﬁgﬁgﬁﬁ attern H %3/ Direct Drive Type
B/ Type % H&/Normal Close Type
ERALE
Aperture of Flow Rata 18 20 22 35 40 50
CV{il/CV Value 4.8 7.6 12 24 29 48
HEO& .
Joﬁtpipe Bore 38 142 i 1 1114 1% 2
EHREENDE .
Operation Fluid Viscosity 20 CSTE F(Bolow)
Eﬁﬁ;’_p“fg’:sm % %/ Air:0~0.74&/Water:0~0.5. ¥/0il:0~0.5
BAREH Mpa T
Max Pressure-Resistance )
IIEEE -5~80
Operating Temperature
EHBEERE
Voltage Range 110%
:a‘fe?i-aﬁfof Body 2W: ] Brass 254 #§49 Stainless Stes|
FiEE ]
g ;iior L NBREEVITON/NER or VITON
ii BHMedel | A | B | C | D | K
P': 2W160-10 101.6  57.0 17 69 a/e"
J:E 2W160-15 1015 57.0 17 89 1/2"
2W200-20 107.0 57.0 1235 73 3"
S — Q
[ | 2W250-25 1115 735 1345 99 1
ﬁé 2W350-35 1420 950 172 128 114"
) 2W400-40 1420 950 172 123 12"
\ . 2WS500-50 172 123 209 168 2"
B
D K

047 | www.ptce.net

2L% 3 = i N

2L SERIES SOLENOID VALVE

1S09001:2000 1

iT 1 ¥/Ordering Code

® 2L (US) BF —fr—iEr ai i

2L (US) Series Two-position Two-way Solencid Valve

2L 170

BLE

[pertureof
Flow Rate
170:17mm
200:20mm
300:300mm
500:50mm

R

2L - i = i R 0 (RS B
Specification Code
2L:Two-position Three-way
Solenoid Valve (Steam Type)

mmm Fi ¥/ Specification

Bl 8 Model 2L1TO-10

%nrkfls-rg.uedium

w
Motion Pattern
R Type

FRAE
Aperture of Flow Rate

Cvil/CV Value
RO

Joint pipe Bora

55 FR O 4 N PO
Operation Fluid Viscosity
EHREH Mpa
Working-pressura
RAMESN Mpa

Max Pressure-Resistance
THRE ‘c

Operating Temperature

EHEEHER
Voltage Range

3/8

&b R
Materlal of Body

biEago
Matarial of Oil Seal

=

15 AC110V
&"L‘ of Eﬁ?ﬂ% Voltage
Joint Pipe Bore DC12v
10:3/8 DC24V
15:1/2 AC24V 50/60Hz
2034 AC110V 50/60Hz
251 AG380V 50/60Hz
35:1/4
40:1/2
50:2
| 2u170.15 2L170-20 2020026 2030035 |  2L300-40 2L500-50
. k. E/AIr. Water. Steam
f£8R/Guide Type
# A ®/Normal Close Type
17mm 22mm 30mm a0mm
4.8 12 20 48
112 314 1 11/4 1% 2
20 CSTEL T (Below)
BE., &. #Air. Water. Steam:0. 1~1.5
2.25
-5~180
+10%
2W: A Brass
PTFE
#3/Model | A | B [ € | D | K
2L170-10 126 42.0 148 82 318
2L170-15 125 42.0 146 82 1127
2L170-20 125 42.0 146 82 3/4"
2L.200-25 138 52.0 162 80.5 1
2L300-35 148 74.0 185 111 14"
2L300-40 148 74.0 183 1M 1'72°
2L500-50 178 94.5 223 163 2"

D48 | www.pice.

net



2PRIIEH N

2P SERIES SOLENOID VALVE

1T M #8/Ordering Code

IS08001:2000

NBPT

NBPT

(

2VRI - — A

2V SERIES SOLENOID VALVE

1508001:2000

3T B #3/Ordering Code

& 2P AT = {ir — i L R

2P Series Two-position Two-way Solenoid Valve

2P 025

REALE
025:2. 5mm

Mgk

Specification Code
2P {ir = 8 o Y (B WD

Aperture of Flow Rate ggi

06

BEOE

08:1/4

2P : Tow-position Two-way Solenoid valve

(Reinforced Plastic Steel Typs)

i 7 325,/ S pe ¢ 2

% Model |

IfEMrE
Working Medium
FMEFR

Motlon Pattern

R/ Type

#EAE
Aparture of Flow Rate

CVIR/CV Value
gEOE 118
Joint pipe Bore

15 P G P
Operatlon Fluld Viscosity
fEfEA Mpa
Waorking-pressure

RAMEN Mpa
Max Pressure-Resistance

THRE s
Operating Temperature

ERBETE
Voltage Range

kit R
Material of Body

MEHEE
Material of Qil Seal

2P025-06

nt Pipe Bore
:1/8

- AC110V

FHERRE
Standard Voltage
DC12V

DC24V

AC24V 50/60Hz
AC110V 50/60Hz

AC220V 50/60Hz
AC380V 50/60Hz

2PD25-08

¥, Kk, #. EE/Air. Water, Qil, gas

H 31 :%/Direct Drive Type

# A &/Normal Close Type

2.5

0.23

20 CSTELF (Below)

42.5

0~0.7

1.0

-5~80

+10%

I##¥EEngineering Plastlc

NBR=VITON/NBR or VITON

2P025-26:P51/8
2P025-08:PS1/4

61.7

Uy

61.7

10

41

049 | www.ptca.net

174

2-Mdx0.7

Blank:standard
Connector

LD+: Brown with
Lighting Connector
LD: White with
Lighting Connector
W:Lead Wire Type

W5 01 0 fussaig
Gi-5T0dT

NEPT

(

2V 025 - 06 - AC110V W
RELE ‘ R E
Aperture of Flow Rate ﬁﬁt%?e Bore Standard Voltage
010: 1. Omm MA MAXD. 7 DC12V
0252 omm 0814 RG24V 50/60H
. . Zz
Jou: gamm 10:3/8 AG110V50/60Hz 8
A/AE : 15:1/2 AC220V 50/80Hz & 5:NBR
Specification Code 20:3/4 AC380V 50/60Hz E:EppMm
2V — i i i 25:1 V:VITON (&= H)
2V : Tow-position Oil Seal Code
Two-way Solenoid valve Blank:NBR
E:EPDM
V:VITON
For-High-temperature)
@e/Madell A B c|D|E| F|a|n|m
2V130-10 70.7 32 15 18.6 72 PT3/8 49 103.2 90.7
o 2V130-15 70.7 32 15 18.5 72 PT1/2 49 103.2 90.7
1 A”f 2V250-20 73.7 45 21 23 102 PT3¥4 775 120 107.4
E 2V250-25 73.7 45 21 23 102 PT1 77.5 120 107.4
mmm 19§/ Specification i Ak
35.3
58 Model 2V025-08 2V130-18 | 2V250-26
VIV;EI( ng Madium w4, Jk. 1. EHTAIr, Water, Qil, gas N
ﬁgﬁgﬁ%altern B 3 #/Direct Drive Type 1187 (1447 3
R/ Type W%t B/Normal Close Type i V)
W
FRFALE mm
Aperture of Flow Rate 28 e =
CVIE/CV Value 0.23 6.2 23
EEORE
Joint pipe Bore G1/4 G1/2 G1
ERREYEE b G
D ety acolty 20 CSTLL F (Balow} P
ERE) Mpa 0~0.8 0.5~0.7 =
Working-prassure ' - )
BAEEIGL L 1
IR b
Operating Temperature -5~80 =
: 178" (1/47)
HHBEEER
Voltage Range ek wj \f_D
ﬁ;ﬂ:{fofBody 488k 4A/Aluminum or Brass #%4H Brass
Ei‘mﬁ ; NBREEVITON/NBR or VITON  NBREEVITON/NBR or VITON
aterial of Qil Seal
BERMHE 0.05
Shortast Excitation Time .

050 | www._ptce.nat



VXE 7 2 8 il
VX SERIES SOLENOID VALVE

1S08001:2000

iT My #8/Ordering Code

VX2120 - 08 - AC220V
MR BEOE ImHERE
Specification Joint Pipe Bore Standard Voltage
Code 06:1/8 DC12V
08:1/4 DC24V
10:3/8 AC24V 50/60Hz
15:1/2 AC110V 50/60Hz
AC220V 50/60Hz
AC380V 50/60Hz
mmm 5 R <t/ Overall Dimension
|
B % /Modal kK | x« | a | e
VX2120-06 118° 25 40 64
o VX2120-08 174" 25 40 84
E VX2120-10 318" 48 68 10
7] VX2120-15 1z 48 88 110
\
B
mmm 3 #%/ Specification
B & Model VX2120-06 VXZ120-08 VX2120-10 VX2120-15
%;Ekﬁ Medium |, sk, FEUAT, Water, Steam
ﬁgﬁg?l%allem E ghH/Direct Drive Type
B/ Type % i E/Normal Close Type
FEREA M
Working-prasure 0~1. OMpa
HEILE . 13
Apsriure of Flow Rate
HEOE
Joﬁt sipe Bore 1/8 114 3/8 1/2
HFHBEER L EeAEOP R
Voltage Range Gl 5~B0°C
BMEH R
Material of Oil Seal MITON LI

051 | www.ptoe.net

PU220R a8 R
PU220 SERIES SOLENOID VALVE

1S09001;2000

iT M #8/Ordering Code

PU 220 - 01 - AC1M0V
MIEAR EHERE
Motion Pattern EEOE Standard Voltage
220: 5@ Joint Pipe Bore DG12V
220:Direct Drive Type 01:1/8 DC24V
02:1/4 AC24V 50/60Hz
o 31 R
: z
nwLn_ 06:3/4
PU:- I S 08:1

Specification Code

PU:Two-position Two-way

Solenoid Valve

4 #/ Specification

PU220-01

Vlvgflgir'EMadium
BIET

Motion Pattern
BR/Type

ERFALE mm
Aperture of Flow Rate

CV{H/Value m'h

EEOE
Joint Plpe Bore

ERRYBE
Operation Fluid
Viscosity

£HEH Mpa
Working-Pressure

BAWESD Mpa
Max Pressure Res

IfEREC
Operating Temperatura

S Model
PU220-01
PU220-02
PU220-03
PU220-04
PU220-06

PU220-08

1.8

1/8

O#/Bore

1/8

1/4

3/8

1/2

3/4

22

35

66. &

71

23

0.18

174

72

75.5

79.5

101

107

120

30

48

48

70

8.0

1.00

378

PL220-04
WS s, HVAIN Waters Ol

H #FA/Direct Drive Type
# i & Normal ClosaType

50 CST

0~0.7Mpa

1.06Mpa

-5~80

13

4.00

1/2

20

8.60

3/4

PUZ220-08

25

11.00

052 |www.ptce.net



PU225% 3 & i i
PU225 SERIES SOLENOID VALVE

iT M 2/Ordering Code

NBPTEN 4® M (.. NBPT
R NBPT SERIES SOLENOID VALVE i‘.*.fl‘ e

1S08001:2000 ]

il B ¥8/Ordering Code

PU 295 - 01 - AC110V NPT22 - 001 - 06 AC110V
EER - #iE B BERE
L esysvmor Srredt  REAE. . R oo
N i oW Ralte
520:DitectDrive Type  bvg Pe DOTe DC24V MBRTE 001 : 1mm 06:1/8" AC220v
02:1/4 AC24V 50/80Hz NPT:Z{i — j& & 51 002 - 2mm 08:1/4°
03:3/8 AC; 12 QV 50/60Hz Spacification Code 003 - 3mm 10:3/8 DC24V
BERE Saars AC380V S0/g0Hz NPT:Two-position 904 : 4ram
PU:= {7 = @ i 18 oo Y 005: 5mm
Specification Code : 006 : Bmm

PU:Two-position Two-way
Solenoid Valve

mmm i1 3%/Specification mmm i35/ Specification

ERALE ' FROE

IHEH | FHREN
Joint Plpe Boro

| PLI225-03 fr R &
} 'ﬂbﬂﬂﬂﬂ Prasaurn EQMWTMMHN Madlum Tamperature

| sPu225-03

S Model

Aporure of Flow Rale

I PU225-04 PU225-06 . PUZ25-08 I PUZ225-12 PL225-14 . PUZ25-20
5PU226-04 BPU225-08 SPUZ25-08 5PU225-12 | BPU225-14 5PU225-20

27T NPT2201-06 1mm Gi/8 0~0. BMpa 0. 02m'h
Working Medium =M. 7K. B/AIr. Water. Oll ’
SRR NPT2202-06 2mm G1/8 0~0. 6Mpa 0. 08m’h
Motion Pattern N s #/Direct Drive Type
NPT2201-06 1mm G1/8 0~0. 4Mpa 0. 02m*h
& RSType & F #/Normal CloseType
#EAR mm NPT2202-06 2mm Gi/8 0~2. 5Mpa 0. 08mh
Aprture of Flow Rate 13 13 25 25 38 38 50
NPT2203-06 3mm Gi/8 0~1. OMpa 0. 16m’h -10~50°C -10~-80°C
Cvii/value m'h 4,50 4.5 12, 00 12,00 22, 00 30. 00 48.00
NPT2203-08 3mm G1/4 0~1. OMpa 0. 16m’h
EEOR ,
Joint Pipe Bore 3/8 % 3fa E e B 2 NPT2204-08 4mm G1/4 0~0. 6Mpa 0. 25m'h
ﬁ;‘fﬁ,’g’mﬁsm 0.5~1. OMpa NPT2205-08 5mm G/ 0~0. 3Mpa 0. 32m*h
= 0~0. 2M :
ﬂf@fsﬁ’m — NPT2208 &mm G1/4~1/2 pa 0. 54m%h
X, {1 .
Resistance C
THARLE ‘ K H 1 K
Operating Temperature -5-80
Rangse .= = == §
ﬁ;ﬁ,ﬁaﬁfomody SR E8 47 Brass or Stalnless Steel
&
4 < m } jl < m
T &S Modsl | K | A | 8 | ¢ m TIOTIIIOT] ;ﬂ@ﬂﬂ]ﬂ@ﬂx | [ I
777777777 F% :gﬁi‘;‘s"_za 38" 86.5 1065  48.0 =T T T=— ;‘i
? T g )
PLZES;0 142" 66.5 106.5 48.0 il \
SPU225-04 - - - E - L
e :gﬁgg':_gs 814" 96.0 126.0 70.0 LXL =
23323'5(’.33 1" 96.0 126.0 70.0
VaRy :gﬁi‘;;";z 114" 1310 1455 96.0
BUzase T NPT2201-06 1/8 20x25 59 49 56 - 22 -
K SPU225-14 1z 131.0 145.5 26.0 NPT2201-08 18 20x25 59 49 56 ° 22 g
A c — PU225-20 2" 180.0 180.5 112.0 NPT2201-06 1/8 32x32 78 59 &7 - 38 -
! NPT2201-06 1/8 32x32 76 59 87 - 36 -
NPT2201-06 18 32x32 76 50 67 = 36 >
NPT2201-08 174 32x46 76 &0 69 - 36 -
NPT2201-08 174 32x46 76 80 69 - 38 -
NPT2201-08 1/4~1/2 32x46 76 60 69 = 36 -
NPT2206 1/4~1/2 50 76 7 85 a8 36 26

053 | www.plce.net

054 | www.plce.net




NBPT# 7l 85 R

NBPT SERIES SOLENOID VALVE

iT W #8/Ordering Code

NPT23 - 001 - 06 AC110V
EiERE ‘ =B BT
Aperture of BEEOR giandard Voltage
Flow Rate JointPipe Bore  AC110V
001:1.5mm 6:1/8 AC220v
002.2 08:1/4 DC12v
: 2mm MIEHER = DC24V
P 003:2.5mm M:Panel Mounting
NPT: ==& &5 1501:1.5mm
Rty 1502:2mm

Specification Code
NPT:Two-position
Three-way Series

mmm #4%/Specification

mEAS gEOE THED
Aperiue of Flow Rae | Joinl Pipa Bore Operating Tomparalure | Medium Temparalura
NPT23001-06 1. 5mm G1/8 0~1. 8Mpa 0.02m’/h
NPT23002-06 2. Omm G1/8 0~1. 6Mpa 0.08m’/h
NPT23003-06 2. 5mm G1/a8 0~0, 6Mpa 0. 16m°/h
NPT23001-08 1. 5mm G1/4 0~1. 6Mpa 0. 02m’/h
-10~50°C -10-80°C
NPT23002-08 2. 0mm G1/4 0~1. OMpa 0. 08m%/h
NPT23003-08 2. 5mm G1/4 0~0. 6Mpa 0. 16m’/h
NPT231501-B 1. 5mm EMER 0~1. 6Mpa 0.02m’/h
NPT231502-B 2. Omm A 0~1. OMpa 0.08m°/h
K
K
d b
- o Ea
« 1 £3- i 7
i m o ! L \ -
| ! . o 3 e
L qounood L / ®
& .
i ! u L| [ouuoroom ]
B 24
L
LXL G L

5 Mode!

NPT23001-06 118
NPT23002-06 1/8
NPT23003-06 1/8
NPT23001-08 1/4
NPT23002-08 114
NPT23003-08 1/4

EiREE

NPT231501-B Panel Mounting

EHR
NPT231502-B Panel Mounting

055 | www. plce.net

20x32
20x32
32x32
32x48
32x48
32x46

32x32

32x32

76 67
76 67
76 67
76 68
76 68
76 68
63 -

63 -

75
75
75
7
77
77

66

B8

36
36
36
38
38
38

36

38

SLGHR 3 M K B ik A

SLG SERIES SOLENOID VALVE

iT ¥5%/Ordering Code

ISO8001:2000 |

SLG5H405 - 15 - O -
AR EEOR BERR
SLG5405% 51 Joint Pipe Bore  Wiring Form
Specification Code ;g;ﬁ" Blank:standard
SLG5405 Series 25;1,, Connector

L FUECACLEeEN . ]

H& Model SLGE404-D4
%or’l(’ﬁ'lgMedlum
PIEHR
Motion Pattern
3/ Type
ERALE 12
Aperture of Flow Rate
Kv{l KV Value 2.0
BRSO G1/2

Joint pipe Bore
BREH Kgffem®
Working-pressure

BAMEH Kaftem® 75
Max. Pressure Reslstance

TERAEERC

Oparating Temperature Range
EREEREE

Operating Voltage Range
RFEG

Protect Class

FEal

Power Consumption

ELE 43
Insulation

EiEH R
Material of Body

S{K/GAS:1-50, B #k/Liquid:1-50

B
Materlal of Oll Seal

AC220V

mAERE
Standard Voltage
AC24V

AC110V

AC220Vv

AC380v

DC12Vv

DC24V

SLGE404— D6
=S, k. H/AIr. Water. Oll
% S 2/Guide Type
